
CHEMISTRY

BOOKS - MODERN PUBLICATION

BIOMOLECULES

Example

1. Why are carbohydrates generally optically active ?

Watch Video Solution

2. Give reason for the following statement-
 Nichrome is used to make

electric heaters and Good quality electric wires.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4q8L0Er7vbS2
https://dl.doubtnut.com/l/_FYCBiJ71dys1
https://dl.doubtnut.com/l/_IUrm4Wb7UWWg


3. What are the polysaccharides that make up starch and what is the

difference between them ?

Watch Video Solution

4. Is a diet consisting mainly of rice an adequate diet ? Why or why not ?

Watch Video Solution

5. Amylose and cellulose are both straight chains polysaccharides

containing only D-glucose units. What is the structural difference

between the two ?

Watch Video Solution

6. What are reducing and non-reducing sugars ? What is the structural

feature characterising reducing sugars ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_IUrm4Wb7UWWg
https://dl.doubtnut.com/l/_QriO2QUmIStJ
https://dl.doubtnut.com/l/_KqfosVNEgA90
https://dl.doubtnut.com/l/_7HZsCMbGqYD2


Watch Video Solution

7. Draw open chain structure of an aldopentose and aldohexose. Predict

the number of asymmetric carbon atoms present in each.

Watch Video Solution

8. What do you mean by inversion of cane sugar ?

Watch Video Solution

9. Glucose does not react with

Watch Video Solution

10. Give reason for the following statement-
 Brass is used for making

utensils, wires and parts of the machines.

Watch Video Solution

https://dl.doubtnut.com/l/_7HZsCMbGqYD2
https://dl.doubtnut.com/l/_ifQP30p5TlNi
https://dl.doubtnut.com/l/_hFJ8WmuVpUkt
https://dl.doubtnut.com/l/_bd0FU7fQJIzv
https://dl.doubtnut.com/l/_rf9kzyKhg1LI


Watch Video Solution

11. Write a reaction which shows that all the carbon atoms in glucose are

in a straight chain.

Watch Video Solution

12. The linkage between the two monosaccharide units in lactose is

Watch Video Solution

13. Give one example each of disaccharide and polysaccharide.

Watch Video Solution

14. What are the hydrolysis products of (a) sucrose (b) lactose?

Watch Video Solution

https://dl.doubtnut.com/l/_rf9kzyKhg1LI
https://dl.doubtnut.com/l/_qVMePCFGnalK
https://dl.doubtnut.com/l/_tBFRkZdLPbXU
https://dl.doubtnut.com/l/_aHFbEE59Grn2
https://dl.doubtnut.com/l/_NEI20h802tYm


15. What are the products of hydrolysis of lactose?

Watch Video Solution

16. Name the disaccharide Present in milk.

Watch Video Solution

17. Give reason for the following statement-
Solder is used for welding of

metallic bodies and filling cracks of metals.

Watch Video Solution

18. Give reason for the following statement-
 68% of lead and 32% of tin

makes an alloy.

Watch Video Solution

https://dl.doubtnut.com/l/_Akx01EIgDThW
https://dl.doubtnut.com/l/_2LRkxyxsX0JV
https://dl.doubtnut.com/l/_sCXY63YTzHyn
https://dl.doubtnut.com/l/_gECtBwWZz6pI
https://dl.doubtnut.com/l/_JjvvicL3MT6T


19. In E. coli DNA, the AT/GC ratio is 0.93. If the number of moles of

adenine in its DNA sample are 465,000, calculate the number of moles of

guanine present.

Watch Video Solution

20. A DNA molecule with more number of GC base pairs than AT base

pairs has higher  than the one with lesser number of GC base pairs

than AT base pairs. Explain why ?

Watch Video Solution

Tm

21. Two samples of DNA, X and Y have melting temperature  as 340

and 350K respectively. What do the data indicate regarding their base

content ?

Watch Video Solution

(Tm)

https://dl.doubtnut.com/l/_JjvvicL3MT6T
https://dl.doubtnut.com/l/_lWtMTLuiZwN2
https://dl.doubtnut.com/l/_yhnjfa5vqPDn
https://dl.doubtnut.com/l/_fMu28IPmuqsb


22. If the sequence of bases in one strand of DNA is ATGACTGTC then the

sequence of bases in its complementary strand is

Watch Video Solution

23. How many states of water are there ?

Watch Video Solution

24. What is the difference between g and G?

Watch Video Solution

25. State differences between primary and secondary structure of

proteins.

Watch Video Solution

https://dl.doubtnut.com/l/_fMu28IPmuqsb
https://dl.doubtnut.com/l/_7jOP17uN3hbg
https://dl.doubtnut.com/l/_6byrbWXb8ZjE
https://dl.doubtnut.com/l/_kdVIb6i1Z5ZT


26. Which  -amino acid can cross link peptide chains ?

Watch Video Solution

α

27. Give reason for the following statement-
 Arms and various

equipments of machines are made up of an alloy.

Watch Video Solution

28. What type of linkages hold together monomers of DNA ?

Watch Video Solution

29. What are the main functions of the hormone adrenaline ?

Watch Video Solution

https://dl.doubtnut.com/l/_79sagXyNBpZi
https://dl.doubtnut.com/l/_DZUY9GOw6Sir
https://dl.doubtnut.com/l/_pDC7vgCBRB8H
https://dl.doubtnut.com/l/_KZQmJPq2PTR9


30. Name the enzyme present in saliva.

Watch Video Solution

31. What is the action of nitrous acid on glycine ?

Watch Video Solution

32. Which of the following is not an α-amino acid ?
 Cysteine, Tyrosine,

Trypsin, Proline, Serine

Watch Video Solution

33. Why - amino acids have relatively higher melting point than

corresponding haloacids ?

Watch Video Solution

α

https://dl.doubtnut.com/l/_RHHIMkvEP41q
https://dl.doubtnut.com/l/_rm0Rbeaifkdb
https://dl.doubtnut.com/l/_TN2Xtyu1G6tt
https://dl.doubtnut.com/l/_twAQAd95zzd1
https://dl.doubtnut.com/l/_S0PSMpPJ1DHu


34. How are nucleosides, nucleotides and nucleic acids related ?

Watch Video Solution

35. What is prosthetic Group ?

Watch Video Solution

36. What is the function of enzyme present in liver ?

Watch Video Solution

37. Fresh tomatoes are a better souree of vitamin C than those present in

tomatoes which have been stored for some time.

Watch Video Solution

https://dl.doubtnut.com/l/_S0PSMpPJ1DHu
https://dl.doubtnut.com/l/_zbZUWAElBjF3
https://dl.doubtnut.com/l/_scy43W4wBYrK
https://dl.doubtnut.com/l/_fldsLSyY5UBo


38. Name the enzyme which converts sucrose into glucose and fructose.

Watch Video Solution

39. Name the enzyme which converts maltose into glucose.

Watch Video Solution

40. Name the enzyme which converts glucose into alcohol.

Watch Video Solution

41. What is superovulation and embryo transfer?

Watch Video Solution

https://dl.doubtnut.com/l/_dTJDZ5OyLKKP
https://dl.doubtnut.com/l/_LDswyTT58zeN
https://dl.doubtnut.com/l/_FEctSJnZBmY4
https://dl.doubtnut.com/l/_LU1vdvjHhV3K


42. Give appropriate reason for the following statement-
An alloy is used

to make lockers and fish plates of the railway tracks.

Watch Video Solution

43. Explain isoelectric point of -amino acids.

Watch Video Solution

α

44. Give reasons for the following statements-
14% of manganese and 80-

85% of iron makes an alloy used in making of lockers and fish plates.

Watch Video Solution

45. Name the vitamins in the following whose deficiency causes poor

coagulation of the blood.

Watch Video Solution

https://dl.doubtnut.com/l/_83RVmfnjFjk5
https://dl.doubtnut.com/l/_l4fooXYRD9Ih
https://dl.doubtnut.com/l/_P7NdooCe3FaY
https://dl.doubtnut.com/l/_x4LQ2fh5DpPw


46. Answer the following statement-
Manganese steel is used in-

Watch Video Solution

47. What is meant by the secondary structure of proteins ?

Watch Video Solution

48. Give one example each for essential and non-essential amino acids.

Watch Video Solution

49. Differentiate between keratin and insulin.

Watch Video Solution

https://dl.doubtnut.com/l/_x4LQ2fh5DpPw
https://dl.doubtnut.com/l/_oFrHaa6bZqVC
https://dl.doubtnut.com/l/_3fUUEYyauntl
https://dl.doubtnut.com/l/_r6LLWrpIyHex
https://dl.doubtnut.com/l/_pAihk4gClIQy


50. Write the Zwitter ion structure of glycine.

Watch Video Solution

51. Answer the following question in one word-
Magnets are made up of-

Watch Video Solution

52. Write the chemical name of vitamin .

Watch Video Solution

B12

53. What is the chemical name of vitamin C and which disease is caused

by its deficiency ?

Watch Video Solution

https://dl.doubtnut.com/l/_rG8vY4QL5vjW
https://dl.doubtnut.com/l/_ye9bDGuqjUSW
https://dl.doubtnut.com/l/_NLxzEGr3w7m3
https://dl.doubtnut.com/l/_WqpVpMOWuak5


54. What is the chemical name of vitamin A and which disease is caused

by its deficiency ?

Watch Video Solution

55. What are three types of RNA molecules which perform different

functions?

Watch Video Solution

56. Vitamin C is found in fruits and vegetables. It cannot be stored in our

body. Why?

Watch Video Solution

57. Name the vitamins whose deficiency cause (i) rickets (ii) night

blindness, (iii) scurvy.

https://dl.doubtnut.com/l/_mj2tw9uMMo5E
https://dl.doubtnut.com/l/_xhX34y4XRcTp
https://dl.doubtnut.com/l/_BCQLGrpMM1zC
https://dl.doubtnut.com/l/_t2hn1G7uMQdO


Watch Video Solution

58. Fill in the blanks-
___________ is the main product as food for the plants.

Watch Video Solution

59. What products are expected when lactose is hydrolysed?

Watch Video Solution

60. How do you explain the absence of aldehyde group in the

pentaacetate of D-glucose?

Watch Video Solution

61. Give appropriate reason for the following statement with an example-

While making of an alloy the percentage composition of each metal, non-

https://dl.doubtnut.com/l/_t2hn1G7uMQdO
https://dl.doubtnut.com/l/_iUcY2spchr8h
https://dl.doubtnut.com/l/_OUNVnlMeceum
https://dl.doubtnut.com/l/_u3jv0G6SDVFw
https://dl.doubtnut.com/l/_SFQiGUSBwhVN


metal and element is always fixed.

Watch Video Solution

62. Where does the water present in the egg go after boiling the egg?

Watch Video Solution

63. Why cannot vitamin C be stored in our body?

Watch Video Solution

64. What products are formed when a nucleotide from DNA containing

thymine is hydrolysed?

Watch Video Solution

https://dl.doubtnut.com/l/_SFQiGUSBwhVN
https://dl.doubtnut.com/l/_rCJk6tZZ2lIa
https://dl.doubtnut.com/l/_BZt94kwuU7JP
https://dl.doubtnut.com/l/_hN2mw4FXxVTl


65. When RNA is hydrolsed, there is no relationship among the quantities

of different bases obtained. What does this fact suggest about the

structure of RNA?

Watch Video Solution

66. What are monosaccharides ?

Watch Video Solution

67. What are reducing sugars ?

Watch Video Solution

68. Write two main functions of carbohydrates in plants.

Watch Video Solution

https://dl.doubtnut.com/l/_K7AnJk8pE3xu
https://dl.doubtnut.com/l/_PfdxbtQxgPSs
https://dl.doubtnut.com/l/_hQA3jZVKBS8U
https://dl.doubtnut.com/l/_sjRmQx75MJKD
https://dl.doubtnut.com/l/_6GwYxaAAXUhO


69. Classify the following into monosaccharide and disacchardise. 

Ribose, 2-dexoyribose, maltose, galactose, fructose and lactose.

Watch Video Solution

70. What do you understand by the glycosidic linkage ?

Watch Video Solution

71. What is glycogen ? How is it different from starch?

Watch Video Solution

72. What are the hydrolysis products of (a) sucrose (b) lactose?

Watch Video Solution

https://dl.doubtnut.com/l/_6GwYxaAAXUhO
https://dl.doubtnut.com/l/_4DZhagfZiMKq
https://dl.doubtnut.com/l/_31j1qqpryidt
https://dl.doubtnut.com/l/_pDthwG8UvoPw


73. What are the hydrolysis products of (a) sucrose (b) lactose?

Watch Video Solution

74. What is the basic difference between starch and cellulose ?

Watch Video Solution

75. What happens when D - glucose is treated with the following reagents

? 

Watch Video Solution

HI

76. What happens when D - glucose is treated with the following reagents

? Bromine water.

Watch Video Solution

https://dl.doubtnut.com/l/_u942igA8Lztm
https://dl.doubtnut.com/l/_zyQQBJlo3Iwa
https://dl.doubtnut.com/l/_ptbFGhnKP2RS
https://dl.doubtnut.com/l/_sC2jrMLxDJXT


77. What happens when D - glucose is treated with the following reagents

? .

Watch Video Solution

HNO3

78. Enumerate the reactions of D-glucose which cannot be explained by

its open chain structure.

Watch Video Solution

79. What are essential and non-essential amino acids ? Give two examples

of each type.

Watch Video Solution

80. Define the following as related to proteins. Peptide linkage.

W h Vid S l i

https://dl.doubtnut.com/l/_sC2jrMLxDJXT
https://dl.doubtnut.com/l/_rYW6yzRuYlZR
https://dl.doubtnut.com/l/_ZMAyRXjtixrU
https://dl.doubtnut.com/l/_BrcvX6nfB2iK
https://dl.doubtnut.com/l/_Lvjio8LZmTAV


Watch Video Solution

81. Define the Primary structure as related to proteins.

Watch Video Solution

82. Define the following as related to proteins. Denaturation.

Watch Video Solution

83. Explain secondary structure of proteins.

Watch Video Solution

84. What type of bonding helps in stabilising the -helix structure of

proteins?

Watch Video Solution

α

https://dl.doubtnut.com/l/_Lvjio8LZmTAV
https://dl.doubtnut.com/l/_SSfdiWHKRWmc
https://dl.doubtnut.com/l/_oLPS3LzIcVnO
https://dl.doubtnut.com/l/_PdIC2i3XVts4
https://dl.doubtnut.com/l/_XyOGWGO2zIqq


85. What is the difference between globular and fibrous protein ?

Watch Video Solution

86. How do you explain amphoteric nature of amino acids?

Watch Video Solution

87. What are enzymes?

Watch Video Solution

88. What is the effect of denaturation on the structure of proteins?

Watch Video Solution

https://dl.doubtnut.com/l/_m5g9yc49G4y7
https://dl.doubtnut.com/l/_vgHWEH6vyOWP
https://dl.doubtnut.com/l/_z65b6uwk6HZ8
https://dl.doubtnut.com/l/_TKWzApuBJdPh


89. How are vitamins classified ? Name the vitamin responsible for

coagulation of blood ?

Watch Video Solution

90. Why are vitamins essential to us ? Give the roles of various vitamins in

our body.

Watch Video Solution

91. What is nucleic acid ?

Watch Video Solution

92. What is the difference between nucleoside and nucleotide ?

Watch Video Solution

https://dl.doubtnut.com/l/_5qc8kKwCVpgc
https://dl.doubtnut.com/l/_B530DDmfJ3gi
https://dl.doubtnut.com/l/_oZdM4YDUtSJC
https://dl.doubtnut.com/l/_8QaiQBFaTkvf
https://dl.doubtnut.com/l/_tPzPkkZ52lMj


93. The two strands in DNA are not identical but are complimentary.

Explain.

Watch Video Solution

94. Give reason for the following statement-
Artificial gold is an alloy.

Watch Video Solution

95. What are different types of RNA formed in the cell ?

Watch Video Solution

96. Name the sugar present in milk. How many monosaccharide units are

present in it? What are such oligosaccharides called?

Watch Video Solution

https://dl.doubtnut.com/l/_tPzPkkZ52lMj
https://dl.doubtnut.com/l/_UNECSFtzBPHP
https://dl.doubtnut.com/l/_pZxQjdF7fwP4
https://dl.doubtnut.com/l/_9wnbAXu0vnMF
https://dl.doubtnut.com/l/_iaQyA2q5bJF6


97. Write a reaction which shows that all the carbon atoms in glucose are

in a straight chain.

Watch Video Solution

98. In nucleoside ae is attached at 1â€™ position of sugar moiety.

Nucleotide is formed by linking of phosphric acid unit to the sugar unit of

nucleoside. At which position of sugar unit is the phosphoric acid linked

in a nucleoside to give a nucleotide?

Watch Video Solution

99. What is the name given to the linkage which holds together

monosaccharide units in polysaccharides ?

Watch Video Solution

https://dl.doubtnut.com/l/_iaQyA2q5bJF6
https://dl.doubtnut.com/l/_7mTPNJMI9mKH
https://dl.doubtnut.com/l/_xuKDlaStVMtc


100. Under what conditions glucose is converted to gluconic and

saccharic acid?

Watch Video Solution

101. Monosaccharides contain carbonyl group hence are classified, as

aldose or ketose. The number of carbon atoms present in the

monosaccharide molecule are also considered for classification. In which

class of monosaccharide will you place fructose?

Watch Video Solution

102. The letters â€˜Dâ€™ or â€˜Lâ€™ before the name of a stereoisomer

of a compound indicate the correlation of configuration of that particular

stereoisomer. This refers to their relation with one of the isomers of

glyceraldehyde. Predict whether the following compound has â€˜Dâ€™ or

â€˜Lâ€™ configuration.

Watch Video Solution

https://dl.doubtnut.com/l/_KUEpKoX7SGUU
https://dl.doubtnut.com/l/_kOkKVJjFErxJ
https://dl.doubtnut.com/l/_50hzijaeVKiQ


Watch Video Solution

103. Complete the following statement-
Nichrome alloy is used for-

Watch Video Solution

104. Give reasons for the following statement-
Coin metal is an alloy-

Watch Video Solution

105. Give reason for the following statement-
 90% of copper and 10% of

aluminium makes an alloy used to make ornaments and idols.

Watch Video Solution

106. Give reason for the following statement-
Artificial jewellery and idols

are made up of an alloy.

Watch Video Solution

https://dl.doubtnut.com/l/_50hzijaeVKiQ
https://dl.doubtnut.com/l/_snx3aHVWhZI4
https://dl.doubtnut.com/l/_EJURagfzJack
https://dl.doubtnut.com/l/_aXE9aEjjsMlX
https://dl.doubtnut.com/l/_kum0SQE4Ks5Z


107. Some enzymes are named after the reaction, where they are used.

What name is given to the class of enzymes which catalyse the oxidation

of one substrate with simultaneous reduction of another substrate.

Watch Video Solution

108. During curdling of milk, what happens to sugar present in it?

Watch Video Solution

109. How do you explain the presence of five -OH groups in glucose

molecule?

Watch Video Solution

https://dl.doubtnut.com/l/_kum0SQE4Ks5Z
https://dl.doubtnut.com/l/_HVkYaLXsiUqI
https://dl.doubtnut.com/l/_EXWyihUkUbGm
https://dl.doubtnut.com/l/_bP3tGPgEakML


110. Why does compound (A) given below not form an oxime? 

Watch Video Solution

111. Complete the following statement-
Artificial gold is used to make-

Watch Video Solution

https://dl.doubtnut.com/l/_Aj2LY4HTPkse
https://dl.doubtnut.com/l/_4zcArmFPZG5U


112. Sucrose is dextrorotatory but the mixture obtained after hydrolysis is

laevorotatory. Explain.

Watch Video Solution

113. Give reasons for the following statement-
 Coins and costly idols are

made up of an alloy.

Watch Video Solution

114. Structures of glycine and alanine are given below. Show the peptide

linkage in glycylalanine. 

Watch Video Solution

https://dl.doubtnut.com/l/_LVCHLK9A67Wq
https://dl.doubtnut.com/l/_nBTQF3IYqUeD
https://dl.doubtnut.com/l/_PffXo7rb8Fii


115. Protein found in a biological system with a unique three dimensional

structure and biological activity is called a native protein. When a protein

in its native form, is subjected to a physical change like change in

temperature or a chemical change like, change in pH, denaturation of

protein takes place. Explain the cause.

Watch Video Solution

116. Activation energy for the acid catalysed hydrolysis of sucrose is 6.22 kJ

, while the activation energy is only 2.15 kJ  when hydrolysis

is catalysed by the enzyme sucrase. Explain.

Watch Video Solution

mol− 1 mol− 1

117. How do you explain the presence of an aldehydic group in a glucose

molecule?

Watch Video Solution

https://dl.doubtnut.com/l/_PffXo7rb8Fii
https://dl.doubtnut.com/l/_nyDD0xaXunRm
https://dl.doubtnut.com/l/_YvmolzEmuynI
https://dl.doubtnut.com/l/_LvrOHQw1NZE0


118. Which moieties of nucleoside are involved in the formation of

phosphodiester linkage present in dinucleotides ? What does the word

diester in the name of linkage indicate? Which acid is involved in the

formation of this linkage ?

Watch Video Solution

119. What are glycosidic linkages? In which type of biomolecules are they

present ?

Watch Video Solution

120. Which monosaccharide units are present in starch, cellulose and

glucose and which linkages link these units?

Watch Video Solution

https://dl.doubtnut.com/l/_LvrOHQw1NZE0
https://dl.doubtnut.com/l/_UX5Jl1A1vzhe
https://dl.doubtnut.com/l/_Ms79DDrT46yd
https://dl.doubtnut.com/l/_YSqQA4e5lTEC
https://dl.doubtnut.com/l/_BGaJwDdBNGmy


121. How do enzymes help a substrate to be attacked by the reagent

effectively?

Watch Video Solution

122. Complete the following statement-
Uses of coins metal are-

Watch Video Solution

123. Answer the following question-
Uses of nichrome metal alloy are-

Watch Video Solution

124. Coagulation of egg white on boiling is an example of denaturation of

protein. Explain in terms of structural changes.

Watch Video Solution

https://dl.doubtnut.com/l/_BGaJwDdBNGmy
https://dl.doubtnut.com/l/_wBWkVRDYxKCw
https://dl.doubtnut.com/l/_1LEThYaD2Bsh
https://dl.doubtnut.com/l/_iyGdBpIbGZm0
https://dl.doubtnut.com/l/_Wp4Xo45kaf2K


125. Glucose and fructose give the same osazone. Explain.

Watch Video Solution

126. What forces are responsible for the stability of -helix . What is it

also known as  helix ?

Watch Video Solution

α

3.613

127. Alanine has the structure . Write its

structure at pH=2 and pH=10.

Watch Video Solution

NH2 − C
∣

CH3

H − COOH

128. Glucose shows mutarotation when it dissolves in water. The specific

rotation of - D glucose and - D glucose is  and 

respectively. Calculate the percentage of two anomers present at

equilibrium mixture with a specific rotation of .

α β +112.2∘ +18.7∘

+52.6∘

https://dl.doubtnut.com/l/_Wp4Xo45kaf2K
https://dl.doubtnut.com/l/_FWOn6bCS2x0R
https://dl.doubtnut.com/l/_yEooqg0daaNe
https://dl.doubtnut.com/l/_8jREJvlYacqD


Watch Video Solution

129. he Chargoff’s rule says that DNA contains equal amounts of guanine

and cytosine and also equimolar amounts of adenine and thymine as: G=

C and A= T 

Does Chargoff’s rule imply that equal amounts of guanine and adenine

are present in DNA?

Watch Video Solution

130. he Chargoff’s rule says that DNA contains equal amounts of guanine

and cytosine and also equimolar amounts of adenine and thymine as: G=

C and A= T 

Does Chargoff’s rule imply that the sum of purine residues equals the

sum of pyrimidine residues i.e. does  ?

Watch Video Solution

A + G = C + T

https://dl.doubtnut.com/l/_8jREJvlYacqD
https://dl.doubtnut.com/l/_6EVRNW1Z7mZ8
https://dl.doubtnut.com/l/_whgmqaxSuEMe
https://dl.doubtnut.com/l/_uzj23nsxt2zE


131. he Chargoff’s rule says that DNA contains equal amounts of guanine

and cytosine and also equimolar amounts of adenine and thymine as: G=

C and A= T 

Does Chargoff’s rule imply that equal amounts of guanine and adenine

are present in DNA?

Watch Video Solution

132. Explain : On electrolysis in acidic solution, glycine migrates towards

cathode while in alkaline solution, it migrates towards anode.

Watch Video Solution

133. Glucose forms an oxime but glucose pentaacetate does not. Explain.

Watch Video Solution

134. The  and  values of -amino acids are very low. Explain.Kα Kβ α

https://dl.doubtnut.com/l/_uzj23nsxt2zE
https://dl.doubtnut.com/l/_TSDt18urKylp
https://dl.doubtnut.com/l/_j39SqbIVCtP2
https://dl.doubtnut.com/l/_nJ0MX5GrhEyr


Watch Video Solution

135. Give one example each of -amino acid which is achiral and -amino

acid having more than one chiral centre.

Watch Video Solution

α α

136. What is the smallest aldose which can form a cyclic hemiacetal ?

Which functional groups are involved in its formation?

Watch Video Solution

137. Do the anomers of -D-glucose have specific rotation of the same

magnitude but opposite signs ?

Watch Video Solution

α

https://dl.doubtnut.com/l/_nJ0MX5GrhEyr
https://dl.doubtnut.com/l/_yXRtBzTZQMya
https://dl.doubtnut.com/l/_KdnDAunmD8lK
https://dl.doubtnut.com/l/_9E9iVjcE88lv


138. Give reason for the following statement-
 Bells that are used in

schools and temples are made up of an alloy.

Watch Video Solution

139. Complete the following: 

Watch Video Solution

https://dl.doubtnut.com/l/_JQ4TYcwhF7n4
https://dl.doubtnut.com/l/_U6s6YawLctx4


140. Complete the reaction : 

Watch Video Solution

141. Predict towards which electrode would an - amino acid migrate in

an electric field at a pH > pI. Explain.

Watch Video Solution

α

142. Predict towards which electrode would an - amino acid migrate in

an electric field at a pH > pI. Explain.

Watch Video Solution

α

https://dl.doubtnut.com/l/_hGygh2OVA0F2
https://dl.doubtnut.com/l/_oTv1EIy9QqRA
https://dl.doubtnut.com/l/_GvLNv69CLHlb


143. Predict towards which electrode would an - amino acid migrate in

an electric field at a pH = pI. Explain.

Watch Video Solution

α

144. If one of the strands of DNA has the following sequence of bases

running in the 5’-3’ direction :

 


What is the sequence of bases in the complementary strand ?

Watch Video Solution

5’ − G − G − A − C − A − A − T − C − T − G − C − 3'

145. If one of the strands of DNA has the following sequence of bases

running in the 5’-3’ direction :

 

Which base is closest to the 5’- end in the complementary strand.

Watch Video Solution

5’ − G − G − A − C − A − A − T − C − T − G − C − 3'

https://dl.doubtnut.com/l/_LtuhURjAfJlA
https://dl.doubtnut.com/l/_zEifO2kFh4H4
https://dl.doubtnut.com/l/_turT0gP7iALQ


Exercise

1. Complete the following statement-
Uses for solder are-

Watch Video Solution

2. Lecithin is an alpha amino acid.

Watch Video Solution

3. Starch has a component amylose and amylopectin.

Watch Video Solution

4. Chemically denaturation does not change the primary structure of

protein.

Watch Video Solution

https://dl.doubtnut.com/l/_2VRprjZ41EmD
https://dl.doubtnut.com/l/_7wlYUpU4fbNK
https://dl.doubtnut.com/l/_gyBEpRRLILC0
https://dl.doubtnut.com/l/_oqpXoPAkTFEQ


5. True of False : The disease albinism is caused by the deficiency of

enzyme tyrosinase.

Watch Video Solution

6. Uracil occurs in DNA and not in RNA.

Watch Video Solution

7. True of False : Lactose on hydrolysis with acids gives galactose and

fructose.

Watch Video Solution

8. True of False : Glycogen is a polymer of glucose units.

Watch Video Solution

https://dl.doubtnut.com/l/_oqpXoPAkTFEQ
https://dl.doubtnut.com/l/_yTHe3RP7LTTq
https://dl.doubtnut.com/l/_1EMheAOjcwXq
https://dl.doubtnut.com/l/_0PLiun4EcG2j
https://dl.doubtnut.com/l/_TwyAy4svhTGz


9. Answer the following question-
Uses of Manganese steel are-

Watch Video Solution

10. Give reason for the following question-
Gun metal is an alloy.

Watch Video Solution

11. True of False : The synthesis of proteins is governed by DNA.

Watch Video Solution

12. Give reason for the following question-
 Mixture of 88% of copper,

10%of tin, 2% of zinc makes an alloy.

Watch Video Solution

https://dl.doubtnut.com/l/_vZlRuIKYbAqp
https://dl.doubtnut.com/l/_R7OIxQOUAAoR
https://dl.doubtnut.com/l/_CMLK2k3GsGs4
https://dl.doubtnut.com/l/_dOMYpHDqvG85


13. True of False : Alanine and valine are neutral amino acids.

Watch Video Solution

14. Keratin, fibrin and collagen are fibrous proteins.

Watch Video Solution

15. True of False : Deficiency of vitamin D causes rickets.

Watch Video Solution

16. Complete the missing links: The sugar in DNA is............... .

Watch Video Solution

17. Cellulose is a polymer of:

https://dl.doubtnut.com/l/_ndmsHiDH8X6f
https://dl.doubtnut.com/l/_3avJb0lM1u6z
https://dl.doubtnut.com/l/_JPJmBiCUZqZJ
https://dl.doubtnut.com/l/_DLiYq3cqrwbs
https://dl.doubtnut.com/l/_fueqsP4bM8I9


Watch Video Solution

18. Amylopectin is a polymer of ............ .

Watch Video Solution

19. AIDS is due to

Watch Video Solution

20. Complete the following statement-
Uses of gun metal are-

Watch Video Solution

21. A chemical or physical change that alters the sequence of bases in

DNA molecule is called .............. .

Watch Video Solution

https://dl.doubtnut.com/l/_fueqsP4bM8I9
https://dl.doubtnut.com/l/_yc1vaHsv5VIH
https://dl.doubtnut.com/l/_dTdxPXSDXlhD
https://dl.doubtnut.com/l/_GfCfcmfStJ90
https://dl.doubtnut.com/l/_gZjfeQ3j78jP


22. Heart attacks can be checked by using the enzyme .....

Watch Video Solution

23. Write chemical name of Vitamin .

Watch Video Solution

B2

24. Bell metal is an alloy. Give reasons.

Watch Video Solution

25. The two strands of the double helix of DNA are held together at

definite distances through ......

Watch Video Solution

https://dl.doubtnut.com/l/_gZjfeQ3j78jP
https://dl.doubtnut.com/l/_ClClIcFj4F4R
https://dl.doubtnut.com/l/_sWxkJ64dRv9B
https://dl.doubtnut.com/l/_pXYljh9WYgLy
https://dl.doubtnut.com/l/_QDRa00uPSpmP
https://dl.doubtnut.com/l/_6uEMdCOBfPaz


26. Most of the naturally occurring .............. have D-configuration while

most of the naturally occurring ............ have L-configuration.

Watch Video Solution

27. Starch is hydrolysed by enzyme ............ to maltose.

Watch Video Solution

28. In RNA, the sugar is ............. and in DNA, the sugar is ............... .

Watch Video Solution

29. What is denaturation of proteins ?

Watch Video Solution

https://dl.doubtnut.com/l/_6uEMdCOBfPaz
https://dl.doubtnut.com/l/_O1FGQBmFJkdK
https://dl.doubtnut.com/l/_uAdcDrwVnrBW
https://dl.doubtnut.com/l/_YCmKnaumZFrz


30. A mixture of 80% of copper and 20% of tin makes an alloy. Give

explanation for this statement.

Watch Video Solution

31. Choose the correct alternative

Watch Video Solution

32. DNA/RNA controls the transmission of hereditary effects.

Watch Video Solution

33. The chemical name of vitamin  is riboflavin/ cyanocobalamin.

Watch Video Solution

B2

https://dl.doubtnut.com/l/_4P3g375hoGm4
https://dl.doubtnut.com/l/_ICIwQBiFXoGP
https://dl.doubtnut.com/l/_3abQFqyWThdW
https://dl.doubtnut.com/l/_TkyMrqY7tkkk


34. The disease xerophthalmia is caused by deficiency of vitamin

D/vitamin A.

Watch Video Solution

35. Leucine/aspartic acid is essential amino acid.

Watch Video Solution

36. The acidic character of glycine is due to ......... group.

Watch Video Solution

37. Pairing of thymine with adenine occurs through three/ two hydrogen

bonds.

Watch Video Solution

https://dl.doubtnut.com/l/_CUOkT0Cg3l1E
https://dl.doubtnut.com/l/_BpvosHuNQR2r
https://dl.doubtnut.com/l/_lTtx4fCS9KF1
https://dl.doubtnut.com/l/_J9pd70dZOma7
https://dl.doubtnut.com/l/_M3peO8dL7W0O


38. DNA is present in:

Watch Video Solution

39. Not the relationship between the first two words and suggest a

suitable word for the fourth place: 

purine : guanine :: pyrimidine : ………………..

Watch Video Solution

40. The conversion of sucrose to glucose and fructose is carried out by

amylase/invertase enzyme.

Watch Video Solution

41. Chemically denaturation does not change the primary structure of

protein.

W h Vid S l i

https://dl.doubtnut.com/l/_M3peO8dL7W0O
https://dl.doubtnut.com/l/_vSLHxZssUD5P
https://dl.doubtnut.com/l/_9dQHM0ipKi1x
https://dl.doubtnut.com/l/_TupHdJbNQxIu


Watch Video Solution

42. Collagen is a fibrous/ globular protein.

Watch Video Solution

43. Explain isoelectric point of -amino acids.

Watch Video Solution

α

44. -D-glucose and -D-glucose are anomers/epimers.

Watch Video Solution

α β

45. What is the most common use of Durelumin?

Watch Video Solution

https://dl.doubtnut.com/l/_TupHdJbNQxIu
https://dl.doubtnut.com/l/_XtAixkuJm6qH
https://dl.doubtnut.com/l/_DQQqS79YcDXF
https://dl.doubtnut.com/l/_hP2BY0omJD2r
https://dl.doubtnut.com/l/_kcTtFfnABzkP
https://dl.doubtnut.com/l/_rRKgxl8TBPw1


46. What is mutarotation ?

Watch Video Solution

47. What is the basic difference between proteins and polypeptides ?

Watch Video Solution

48. What type of bonding occurs in -helix configuration ?

Watch Video Solution

α

49. Name the enzyme which is used to cure the heart disease.

Watch Video Solution

50. Name the enzyme whose deficiency causes albinism.

W h Vid S l i

https://dl.doubtnut.com/l/_rRKgxl8TBPw1
https://dl.doubtnut.com/l/_bUKoVjx8SeBq
https://dl.doubtnut.com/l/_qK7esiMNnona
https://dl.doubtnut.com/l/_kv6OSuRuu7fF
https://dl.doubtnut.com/l/_7gTL1t5F9Ht7


Watch Video Solution

51. What do we get when starch is hydrolysed?

Watch Video Solution

52. Name the vitamins whose deficiency cause (i) rickets (ii) night

blindness, (iii) scurvy.

Watch Video Solution

53. What do you understand by the glycosidic linkage ?

Watch Video Solution

54. What is peptide bond ? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_7gTL1t5F9Ht7
https://dl.doubtnut.com/l/_yHNaoj8Sip7u
https://dl.doubtnut.com/l/_mn1AaMvSxYJi
https://dl.doubtnut.com/l/_WmEZRbRIPzYF
https://dl.doubtnut.com/l/_uyMzFxg7N0lh


55. Cellulose is not digestible by human beings due to the absence of a

cellulose hydrolysing enzyme called

Watch Video Solution

56. Which sugar molecule is present is DNA molecule ?

Watch Video Solution

57. Which sugar molecule is present is RNA molecule ?

Watch Video Solution

58. Write the chemical name of vitamin  and the disease caused by its

deficiency.

Watch Video Solution

B1

https://dl.doubtnut.com/l/_G8l8v7Acpq2a
https://dl.doubtnut.com/l/_Uw1rRGNUDrCl
https://dl.doubtnut.com/l/_pFavnQr0jgOT
https://dl.doubtnut.com/l/_zYvleFWKIIwF
https://dl.doubtnut.com/l/_HLZL9lKHPVsj


59. What is the chemical name of vitamin C and which disease is caused

by its deficiency ?

Watch Video Solution

60. Write the chemical name of vitamin  and the disease caused by its

deficiency.

Watch Video Solution

B1

61. What is the chemical name of vitamin A and which disease is caused by

its deficiency?

Watch Video Solution

62. What is the basic difference between starch and cellulose ?

Watch Video Solution

https://dl.doubtnut.com/l/_HLZL9lKHPVsj
https://dl.doubtnut.com/l/_GA9hHkW5Qm4J
https://dl.doubtnut.com/l/_W8rVgYvDdyhD
https://dl.doubtnut.com/l/_uZXGdSR1QC3S


63. Name the enzyme which converts glucose into alcohol.

Watch Video Solution

64. Name the enzyme which converts starch into maltose.

Watch Video Solution

65. What is the difference between nucleoside and nucleotide ?

Watch Video Solution

66. Name the components of a habitat?

Watch Video Solution

https://dl.doubtnut.com/l/_uZXGdSR1QC3S
https://dl.doubtnut.com/l/_wGbDcQ0xzdCp
https://dl.doubtnut.com/l/_jExLP06iQeZg
https://dl.doubtnut.com/l/_8VN9Qo3tCSM1
https://dl.doubtnut.com/l/_FXjo0b6mwtE0


67. Which is not a polymer

Watch Video Solution

68. Name the products of hydrolysis of sucrose.

Watch Video Solution

69. Name the vitamin whose deficiency causes Beri-Beri.

Watch Video Solution

70. What are nucleotides ?

Watch Video Solution

71. What is meant by pumping?

https://dl.doubtnut.com/l/_CkAsj6lbDyvh
https://dl.doubtnut.com/l/_bFUDDMq0XlQ0
https://dl.doubtnut.com/l/_gcplrjvZ0yFv
https://dl.doubtnut.com/l/_ThQDrDqX1H6a
https://dl.doubtnut.com/l/_21SJcbqHQRu6


Watch Video Solution

72. What are monosaccharides ?

Watch Video Solution

73. Write the structure of the product obtained when glucose is oxidised

with nitric acid.

Watch Video Solution

74. Write a reaction which shows that all the carbon atoms in glucose are

in a straight chain.

Watch Video Solution

75. Write the name of linkage joining two amino acids.

https://dl.doubtnut.com/l/_21SJcbqHQRu6
https://dl.doubtnut.com/l/_t7DlHKudCiw2
https://dl.doubtnut.com/l/_WszAdU1NcA9R
https://dl.doubtnut.com/l/_pNazWVKIQryu
https://dl.doubtnut.com/l/_w9hgERiAf6Jw


Watch Video Solution

76. What are the products of hydrolysis of lactose?

Watch Video Solution

77. What are the products of hydrolysis of sucrose?

Watch Video Solution

78. What are the products of hydrolysis of lactose?

Watch Video Solution

79. What is meant by primary structure of proteins?

A. glycosidic linkage

https://dl.doubtnut.com/l/_w9hgERiAf6Jw
https://dl.doubtnut.com/l/_j8fL6Frg2QPF
https://dl.doubtnut.com/l/_4k6nvJkzIDCs
https://dl.doubtnut.com/l/_OU2fzBn8CSFg
https://dl.doubtnut.com/l/_S1Mcwb3bFraG


B. hydrogen bond

C. peptide linkage

D. ionic bond

Answer:

Watch Video Solution

80. Vitamin â€˜Aâ€™ is called

A. Ascorbic acid

B. Rentinol

C. Calciferol

D. Tocoferol

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_S1Mcwb3bFraG
https://dl.doubtnut.com/l/_0Q44ZNjD6zQp
https://dl.doubtnut.com/l/_5XCx9V8uGgJG


81. The deficiency of vitamin  causes which disease ?

A. Beri-Beri

B. Rickets

C. Anaemia

D. Xerosis

Answer:

Watch Video Solution

B1

82. Explain the following statement giving reason-
 Bell metal is not a

metal.

Watch Video Solution

83. An example of non-reducing sugar is

https://dl.doubtnut.com/l/_5XCx9V8uGgJG
https://dl.doubtnut.com/l/_tOFIqJ1vJ6f5
https://dl.doubtnut.com/l/_Po51dKoY2tN5


A. Sucrose

B. Lactose

C. Maltose

D. None

Answer:

Watch Video Solution

84. Which are the most important nutrients needed for the plants?

Watch Video Solution

85. Which of following is water soluble vitamin ?

A. Vitamin ‘E’

B. Vitamin ‘K’

C. Vitamin ‘B’

https://dl.doubtnut.com/l/_Po51dKoY2tN5
https://dl.doubtnut.com/l/_pjOuuoI3iDHN
https://dl.doubtnut.com/l/_4xsYjvSAEYri


D. Vitamin ‘A’

Answer:

Watch Video Solution

86. Vitamin  is.

A. Riboflavin

B. Cobalamin

C. Thiamine

D. Pyridoxine

Answer:

Watch Video Solution

B1

87. Which is sweetest of the following:

https://dl.doubtnut.com/l/_4xsYjvSAEYri
https://dl.doubtnut.com/l/_ao51cobQQ3h2
https://dl.doubtnut.com/l/_trxDS8bRP7PB


A. Sucrose

B. Glucose

C. Fructose

D. Maltose

Answer:

Watch Video Solution

88. Which nutrient is important for vegetative growth and for protein

synthesis for the plants?

Watch Video Solution

89. The function of enzymes in the living system is to

A. Maintain pH

B. Catalyse biochemical process

https://dl.doubtnut.com/l/_trxDS8bRP7PB
https://dl.doubtnut.com/l/_FghdovAy3RHu
https://dl.doubtnut.com/l/_u6bPzm4f2DcH


C. provide immunity

D. transport oxygen

Answer:

Watch Video Solution

90. The disaccharide present in milk is

A. sucrose

B. maltose

C. lactose

D. cellulose

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_u6bPzm4f2DcH
https://dl.doubtnut.com/l/_6iKGbvM98wce


91. What are monosaccharides? Draw open chain structure of

aldopentose and aldohexose. How many asymmetric carbons are present

in each ?

Watch Video Solution

92. What are reducing sugars ?

Watch Video Solution

93. What is the difference between globular and fibrous protein ?

Watch Video Solution

94. Constantin is an alloy. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_5S8AsXP2Bo3J
https://dl.doubtnut.com/l/_X4oFG8diYKzP
https://dl.doubtnut.com/l/_HAvIkw0qLcXx
https://dl.doubtnut.com/l/_6UNiT1n8swo7
https://dl.doubtnut.com/l/_x61hzFMXejoT


95. State differences between primary and secondary structure of

proteins.

Watch Video Solution

96. Discuss with your teacher and find mil how to distinguish between :

RNA and DNA

Watch Video Solution

97. What is the difference between nucleoside and nucleotide ?

Watch Video Solution

98. Write the repeating unit in polypeptides ? Write the structure of

glycil-glycine and mark the Peptide linkage in it.

Watch Video Solution

https://dl.doubtnut.com/l/_x61hzFMXejoT
https://dl.doubtnut.com/l/_26tLRJAzd3M7
https://dl.doubtnut.com/l/_9vY9nc8IeedH
https://dl.doubtnut.com/l/_bhlobowxdKyv


99. What type of forces are responsible for the formation of Cross linking

of polypeptide chains.

Watch Video Solution

100. What type of forces are responsible for the formation of -helix

formation

Watch Video Solution

α

101. What type of forces are responsible for the formation of -sheet

structure ?

Watch Video Solution

β

102. What are enzymes ? How do enzymes differ from ordinary chemical

catalysts ? Comment on the specificity of enzyme action. What is the most

https://dl.doubtnut.com/l/_bhlobowxdKyv
https://dl.doubtnut.com/l/_NNiEg6rfXhfi
https://dl.doubtnut.com/l/_ZIxvA51tA3kY
https://dl.doubtnut.com/l/_PWgH9v0s4Zbe
https://dl.doubtnut.com/l/_7IiUNeZMQSzO


important reason for their specificity ?

Watch Video Solution

103. Name two components of starch. How do they differ from each other

structurally ?

Watch Video Solution

104. Describe the following statement-
Constantin is not a metal.

Watch Video Solution

105. Explain briefly : Essential and non-essential amino acids with one

example of each.

Watch Video Solution

https://dl.doubtnut.com/l/_7IiUNeZMQSzO
https://dl.doubtnut.com/l/_V7JQ6E8cuMnm
https://dl.doubtnut.com/l/_gGFFnyGy8QH7
https://dl.doubtnut.com/l/_pKInyYUj9WKj


106. Explain briefly : Replication.

Watch Video Solution

107. Explain what is meant by a peptide linkage.

Watch Video Solution

108. Explain what is meant by a glycosidic linkage.

Watch Video Solution

109. List the important structural and functional differences between DNA

and RNA.

Watch Video Solution

https://dl.doubtnut.com/l/_JHvYH6sMjaDj
https://dl.doubtnut.com/l/_CnpTdlmOxQlh
https://dl.doubtnut.com/l/_nKISjyOWla85
https://dl.doubtnut.com/l/_jIhxlNblMVbE


110. Draw the structure of -D-ribose and -D-2-deoxyribose.

Watch Video Solution

β β

111. What are nucleic acids ? Give their role in replication.

Watch Video Solution

112. What are hormones? Why are they called chemical messengers? What

are the general properties of hormones?

Watch Video Solution

113. What is essentially the difference between -form of glucose and -

form of glucose.

Watch Video Solution

α β

https://dl.doubtnut.com/l/_YAZyqaMFWZ7w
https://dl.doubtnut.com/l/_5M3de32rDvDs
https://dl.doubtnut.com/l/_nqVVI4wB4TVO
https://dl.doubtnut.com/l/_xNgNXhLfyHy0
https://dl.doubtnut.com/l/_oq2pvDvZuDii


114. Describe what you understand by primary and secondary structure of

proteins.

Watch Video Solution

115. What is meant by (i) a peptide linkage (ii) a glycosidic linkage ?

Watch Video Solution

116. Name the bases present in RNA. Which one of these is not present in

DNA ?

Watch Video Solution

117. Write two differences between starch and cellulose.

Watch Video Solution

https://dl.doubtnut.com/l/_oq2pvDvZuDii
https://dl.doubtnut.com/l/_p3xtH2IVEh7X
https://dl.doubtnut.com/l/_Qp6mxZoka8LJ
https://dl.doubtnut.com/l/_MLiIP40ZVJZH
https://dl.doubtnut.com/l/_hBS7uyE1gJzi


118. Write one function and two sources of vitamin D.

Watch Video Solution

119. Define the term genetic code..

Watch Video Solution

120. What type of forces are responsible for the formation of -sheet

structure ?

Watch Video Solution

β

121. What are reducing sugars ?

Watch Video Solution

https://dl.doubtnut.com/l/_hBS7uyE1gJzi
https://dl.doubtnut.com/l/_bfZJmACU3BF5
https://dl.doubtnut.com/l/_i3JuoaKuM4Qe
https://dl.doubtnut.com/l/_VC6ZtMwWv6m9


122. What is co-enzyme ? Give one example.

Watch Video Solution

123. What are the constituents of starch ?

Watch Video Solution

124. Whjat is a nucleotide?

Watch Video Solution

125. What is denaturation of proteins ?

Watch Video Solution

126. What type of bonds hold a DNA double helix together ?

https://dl.doubtnut.com/l/_FBJCMtXnWiwA
https://dl.doubtnut.com/l/_p5UbbdNJ7LQy
https://dl.doubtnut.com/l/_FxQiIeCWEBrd
https://dl.doubtnut.com/l/_rNeQZhO7gTRf
https://dl.doubtnut.com/l/_RYJaRw9vtAFh


Watch Video Solution

127. Which enzyme is present in saliva ? What is its function?

Watch Video Solution

128. What is meant by peptide linkage ?

Watch Video Solution

129. Explain the given statement-
A mixture of 60% of copper and 40% of

nickle makes an alloy.

Watch Video Solution

130. Enumerate the reactions of D-glucose which cannot be explained by

its open chain structure.

https://dl.doubtnut.com/l/_RYJaRw9vtAFh
https://dl.doubtnut.com/l/_3KA2jbHNHEHe
https://dl.doubtnut.com/l/_dMxcBRKJVMTx
https://dl.doubtnut.com/l/_HLSKXiYX5mjp
https://dl.doubtnut.com/l/_kTF14WHk9sig


Watch Video Solution

131. Explain the following statement-
In making electric wires, a mixture of

copper and nickle is used.

Watch Video Solution

132. Write the reaction of glucose with HI.

Watch Video Solution

133. Glycogen is called animal starch

Watch Video Solution

134. How are vitamins classified ? Name the vitamin responsible for

coagulation of blood ?

https://dl.doubtnut.com/l/_kTF14WHk9sig
https://dl.doubtnut.com/l/_zMuQ1WCxBRqw
https://dl.doubtnut.com/l/_JahN0CgtYtBn
https://dl.doubtnut.com/l/_VLS4GylywdZ5
https://dl.doubtnut.com/l/_LMlWAIArw4GN


Watch Video Solution

135. What is the basic difference between starch and cellulose ?

Watch Video Solution

136. Describe the following statement-
Monel metal is an alloy.

Watch Video Solution

137. Amino acids can be classified into essential amino acids and non-

essential amino acid. Write one example each for essential and non-

essential amino-acids.

Watch Video Solution

138. Write six differences between DNA and RNA.

W t h Vid S l ti

https://dl.doubtnut.com/l/_LMlWAIArw4GN
https://dl.doubtnut.com/l/_jEMSl03KZI7U
https://dl.doubtnut.com/l/_axQmI7cLIS6N
https://dl.doubtnut.com/l/_Rz9MjO9NpaZY
https://dl.doubtnut.com/l/_E06TROfxjhfs


Watch Video Solution

139. Give one example each of disaccharide and a polysaccharide.

Watch Video Solution

140. What are three types of RNA molecules which Perform different

functions?

Watch Video Solution

141. A mixture of 70% of nickle, 28% of copper and 2% of iron makes an

alloy.

Watch Video Solution

142. Mention one water soluble vitamin.

Watch Video Solution

https://dl.doubtnut.com/l/_E06TROfxjhfs
https://dl.doubtnut.com/l/_l4iRpfgEOJVj
https://dl.doubtnut.com/l/_7VYCyNO5taNQ
https://dl.doubtnut.com/l/_n4IzZabRSCO3
https://dl.doubtnut.com/l/_eO3k38d5LHbN


Watch Video Solution

143. Explain the reason that why Monel metal is not a metal?

Watch Video Solution

144. Write the structure of maltose.

Watch Video Solution

145. Biomolecules are formed by certain specific linkages between simple

monomeric units. Write the names of linkages and monomeric units in

the following class of biomolecules. Starch.

Watch Video Solution

146. Explain the following statement-
German silver is an alloy.

Watch Video Solution

https://dl.doubtnut.com/l/_eO3k38d5LHbN
https://dl.doubtnut.com/l/_8WzATitxGQhb
https://dl.doubtnut.com/l/_1xX4dkitP2Qx
https://dl.doubtnut.com/l/_QN7XwBs2C7ha
https://dl.doubtnut.com/l/_9mMPlyhrAkyo


147. Biomolecules are formed by certain specific linkages between simple

monomeric units. Write the names of linkages and monomeric units in

the following class of biomolecules. Nucleic acid .

Watch Video Solution

148. Give reasons for the following statement-
 German silver is an alloy

which is used to make utensils and idols.

Watch Video Solution

149. What are lipids ? Give their applications.

Watch Video Solution

150. What are phospholipids? Mention their importance.

https://dl.doubtnut.com/l/_9mMPlyhrAkyo
https://dl.doubtnut.com/l/_r7JKQQeeA6Oe
https://dl.doubtnut.com/l/_LPIzHJWySgkp
https://dl.doubtnut.com/l/_4HXiugecu8ww
https://dl.doubtnut.com/l/_5Piw4SO17jGK


Watch Video Solution

151. Deficiency of which vitamin causes rickets ?

Watch Video Solution

152. Name one fibrous and one globular protein.

Watch Video Solution

153. Write the product formed on reaction of D-glucose with  water.

Watch Video Solution

Br2

154. Write one example of monosaccharide and oligosaccharide.

Watch Video Solution

https://dl.doubtnut.com/l/_5Piw4SO17jGK
https://dl.doubtnut.com/l/_Q9n5kBZI1I52
https://dl.doubtnut.com/l/_meJziEUbTC9K
https://dl.doubtnut.com/l/_hoGWHdMxhKsG
https://dl.doubtnut.com/l/_NDnxfVa8zFct
https://dl.doubtnut.com/l/_MVna7r1oRCNs


155. Write any one method for the preparation of glucose.

Watch Video Solution

156. What is peptide bond ? Give one example.

Watch Video Solution

157. Explain secondary structure of proteins.

Watch Video Solution

158. What are glycosidic linkages? In which type of biomolecules are they

present ?

Watch Video Solution

https://dl.doubtnut.com/l/_MVna7r1oRCNs
https://dl.doubtnut.com/l/_Gu0kxrNbQnan
https://dl.doubtnut.com/l/_A8nsITyUTkvz
https://dl.doubtnut.com/l/_YbMI1xtj50oW


159. What are nucleic acids ? What is the base unit of such acids ?

Watch Video Solution

160. Write the full form of DNA and RNA. Name the specific nitrogenous

bases present in DNA and RNA.

Watch Video Solution

161. What are carbohydrates?

Watch Video Solution

162. Name one fibrous and one globular protein.

Watch Video Solution

https://dl.doubtnut.com/l/_1ri5PJkr48Qw
https://dl.doubtnut.com/l/_Tn0zQhZucnBB
https://dl.doubtnut.com/l/_s20ReiaHD71C
https://dl.doubtnut.com/l/_PkIX4v8dwMUE


163. What is denaturation of proteins ?

Watch Video Solution

164. What are carbohydrates?

Watch Video Solution

165. Why are vitamins essential to us ? Give the roles of various vitamins

in our body.

Watch Video Solution

166. What is zwitter ion ? Give the zwitter ion structure of a-amino acid.

Watch Video Solution

https://dl.doubtnut.com/l/_v08iYf4q0Xbi
https://dl.doubtnut.com/l/_flwh0xAbK1PF
https://dl.doubtnut.com/l/_oNWekTsm7AOD
https://dl.doubtnut.com/l/_UtdjneSkNtNO


167. What is denaturation of proteins ?

Watch Video Solution

168. What do you mean by inversion of cane sugar ?

Watch Video Solution

169. What is mutarotation ?

Watch Video Solution

170. What are carbohydrates?

Watch Video Solution

171. Give reactions of glucose with HI.

https://dl.doubtnut.com/l/_jqWtRppMhHpo
https://dl.doubtnut.com/l/_2v0A8pH65oTp
https://dl.doubtnut.com/l/_g9St7vljzIl6
https://dl.doubtnut.com/l/_sPfGEpN72V6l
https://dl.doubtnut.com/l/_WpK1fbbzZRub


Watch Video Solution

172. A mixture of Zinc, Copper and nickle makes an alloy.

Watch Video Solution

173. Which one the following is a disaccharide : Starch, Maltose, Fructose,

Glucose?

Watch Video Solution

174. Give reason for the following statement-
German silver is not a metal.

Watch Video Solution

175. Write the name of vitamin whose deficiency causes bone deformities

in children.

https://dl.doubtnut.com/l/_WpK1fbbzZRub
https://dl.doubtnut.com/l/_lsPnQinbHmZS
https://dl.doubtnut.com/l/_snq30YmnQT83
https://dl.doubtnut.com/l/_ZGOGVzTmk2UP
https://dl.doubtnut.com/l/_t8R0PdQsbPM6


Watch Video Solution

176. Write two sources of vitamin C and disease caused by its deficiency.

Watch Video Solution

177. What are carbohydrates?

Watch Video Solution

178. What is the difference between  - glucose and - glucose ? Write

their cyclic structures

Watch Video Solution

α β

179. Explain the given statement-
Dutch metal is an alloy.

Watch Video Solution

https://dl.doubtnut.com/l/_t8R0PdQsbPM6
https://dl.doubtnut.com/l/_GqNYraYtKWF4
https://dl.doubtnut.com/l/_IJxACXFsWjuP
https://dl.doubtnut.com/l/_BMvL26zhWRYy
https://dl.doubtnut.com/l/_i7ZquwWZfGEG


180. Name the three major classes of carbohydrates and give the

distinctive characteristic of each class.

Watch Video Solution

181. Various parts of the machines and electrical devices are made of a

certain alloy. Name that alloy and also its composition?

Watch Video Solution

182. Explain the following terms in relation to proteins: Denaturation.

Watch Video Solution

183. Explain the following statement-
Dutch metal is not a metal.

Watch Video Solution

https://dl.doubtnut.com/l/_i7ZquwWZfGEG
https://dl.doubtnut.com/l/_iQcLTvglE9qK
https://dl.doubtnut.com/l/_4chl0coqLOJo
https://dl.doubtnut.com/l/_4c0kZuaxRwCs
https://dl.doubtnut.com/l/_3uMRPaKj0AjV


184. Describe the following statement-
Aircrafts and aeroplanes are made

up of a special alloy.

Watch Video Solution

185. What is a polysaccharide?

Watch Video Solution

186. What is meant by primary structure of proteins?

Watch Video Solution

187. What are neutral, acidic and basic amino acids? Which vitamin

deficiency lead to scurvy? Mention one function of vitamin C.

Watch Video Solution

https://dl.doubtnut.com/l/_3uMRPaKj0AjV
https://dl.doubtnut.com/l/_mrtWhV2uXdfm
https://dl.doubtnut.com/l/_VRKOfYfl6MKe
https://dl.doubtnut.com/l/_TRsK37v6vwI0
https://dl.doubtnut.com/l/_oclElQZXOeUZ


188. How many moles of sulphur atom and oxygen atoms are present in

one mole each of H2SO4 and SO2 ?

Watch Video Solution

189. Describe the following statement-
Magnelium is not a metal.

Watch Video Solution

190. Explain the following statement-
Durelumin is an alloy.

Watch Video Solution

191. Answer the following statement in one word-
 The mixture of

aluminium, copper, magnesium makes an alloy which is used to make

pressure cookers.

Watch Video Solution

https://dl.doubtnut.com/l/_KrFClYFZ9VcR
https://dl.doubtnut.com/l/_y06XQe0P1TIP
https://dl.doubtnut.com/l/_bFpJB8XF42Gd
https://dl.doubtnut.com/l/_2GHBh6HhAMT4


192. Explain the following statement-
Plants make their own food through

the process of photosynthesis.

Watch Video Solution

193. Cane Sugar, Glucose and Starch are carbohydrates. Suggest any two

uses of carbohydrates.

Watch Video Solution

194. Explain how fibres rich food helps to maintain the cholesterol level in

the body?

Watch Video Solution

195. Name a source of vitamin E.

W h Vid S l i

https://dl.doubtnut.com/l/_2GHBh6HhAMT4
https://dl.doubtnut.com/l/_0JI4u7rtHoMd
https://dl.doubtnut.com/l/_BrEfbZp4NKTl
https://dl.doubtnut.com/l/_qpfWMRlysNJ1
https://dl.doubtnut.com/l/_VO5RWQaOtUMb


Watch Video Solution

196. Name the disease caused due to deficiency of vitamin K in our body.

Watch Video Solution

197. Name one source of vitamin K?

Watch Video Solution

198. Which protein is synthesized by Vitamin K to protect the brain from

hemorrhage?

Watch Video Solution

199. Brain hemorrhage is caused by the deficiency of vitamin-

Watch Video Solution

https://dl.doubtnut.com/l/_VO5RWQaOtUMb
https://dl.doubtnut.com/l/_ULvQi3AmQaL3
https://dl.doubtnut.com/l/_9hSzhXFFjWzN
https://dl.doubtnut.com/l/_XK9XJb1E8dBT
https://dl.doubtnut.com/l/_6Z23lTaKF28E


200. Which protein helps in the formation of bone tissue in our body?

Watch Video Solution

201. Why cannot vitamin C be stored in our body?

Watch Video Solution

202. What is the difference between nucleoside and nucleotide ?

Watch Video Solution

203. Describe the main functions of vitamin k in our body?

Watch Video Solution

https://dl.doubtnut.com/l/_qonOg1FeIHF4
https://dl.doubtnut.com/l/_prIsIU1P1ZPR
https://dl.doubtnut.com/l/_Aidj6dbAhY7n
https://dl.doubtnut.com/l/_81vq46O2SFoZ


204. Osteoporosis is the disease that is caused by the deficiency of

vitamin-

Watch Video Solution

205. Fill in the blanks-
 The coloured substances that impart permanent

colour to the fabrics, food stuffs etc. are called as________.

Watch Video Solution

206. What are the functions of carbohydrates in living organisms?

Watch Video Solution

207. Write one function and two sources of vitamin A.

Watch Video Solution

https://dl.doubtnut.com/l/_Da7svkks2Zbw
https://dl.doubtnut.com/l/_HZPGpvbSsord
https://dl.doubtnut.com/l/_ycQB6fyE9Otz
https://dl.doubtnut.com/l/_AKeravl75xRQ
https://dl.doubtnut.com/l/_i3lCpLeqVb5w


208. What are nucleotides ?

Watch Video Solution

209. Fill in the blanks-
 _________ dyes are used to dye wool, silk, nylon

fabrics.

Watch Video Solution

210. Explain the statement-
Hydroleum is an alloy.

Watch Video Solution

211. What are reducing sugars ?

Watch Video Solution

https://dl.doubtnut.com/l/_i3lCpLeqVb5w
https://dl.doubtnut.com/l/_9Gd4gSY1JOMc
https://dl.doubtnut.com/l/_6Gu74INkaJjt
https://dl.doubtnut.com/l/_syjcthB7wYEX


212. What is denaturation of proteins ?

Watch Video Solution

213. Answer the following question briefly : How is oxygen replenished in

our atmosphere ?

Watch Video Solution

214. Define enzyme. Give its biological importance.

Watch Video Solution

215. What happens when D - glucose is treated with the following

reagents ? 

Watch Video Solution

HI

https://dl.doubtnut.com/l/_AR04AaNWVuxB
https://dl.doubtnut.com/l/_krhtPXbMqXpt
https://dl.doubtnut.com/l/_ZYVRMXYg7vB1
https://dl.doubtnut.com/l/_QA5PXJKdy8Qt


216. What happens when D - glucose is treated with the following

reagents ? Bromine water.

Watch Video Solution

217. What happens when D - glucose is treated with the following

reagents ? .

Watch Video Solution

HNO3

218. Uses of common salt are-

Watch Video Solution

219. Define the following in relation to proteins : Primary structure.

Watch Video Solution

https://dl.doubtnut.com/l/_QA5PXJKdy8Qt
https://dl.doubtnut.com/l/_nYK6vAOGJbyB
https://dl.doubtnut.com/l/_lsTRyF8kF8cS
https://dl.doubtnut.com/l/_ntSZLxdKxMMd
https://dl.doubtnut.com/l/_UG2NzoMyJCj2


220. Define the following in relation to proteins : Denaturation.

Watch Video Solution

221. Define the following in relation to proteins : Peptide linkage.

Watch Video Solution

222. Name two water soluble vitamins, their sources and the diseases

caused by their deficiency in diet.

Watch Video Solution

223. Name the four bases present in DNA. Which one of these is not

present in RNA ?

Watch Video Solution

https://dl.doubtnut.com/l/_UG2NzoMyJCj2
https://dl.doubtnut.com/l/_opZlhLeR11mW
https://dl.doubtnut.com/l/_GEggEWTVMsOt
https://dl.doubtnut.com/l/_oNhxGQeyKCqH
https://dl.doubtnut.com/l/_xOL59hga9JJh


224. Name two fat soluble vitamins, their sources and the diseases caused

due to their deficiency.

Watch Video Solution

225. Name the four bases present in DNA. Which one of these is not

present in RNA ?

Watch Video Solution

226. What is meant by peptide linkage ?

Watch Video Solution

227. What is meant by pyranose structure of glucose.

Watch Video Solution

https://dl.doubtnut.com/l/_QadUAlqejkY9
https://dl.doubtnut.com/l/_MYM82KoXiYQI
https://dl.doubtnut.com/l/_EFL7viPwW8QE
https://dl.doubtnut.com/l/_ghhPSvJEklHG
https://dl.doubtnut.com/l/_AedDbBf8zTIK


228. Write the main structural differences between DNA and RNA. Of the

four bases present, name those which are common to both DNA and RNA.

Watch Video Solution

229. Write the linear and cyclic structures of glucose. What is the

difference between -glucose and -glucose ?

Watch Video Solution

α β

230. Define the following terms as related to proteins : Peptide linkage.

Watch Video Solution

231. Define the following terms as related to proteins : Primary structure.

Watch Video Solution

https://dl.doubtnut.com/l/_AedDbBf8zTIK
https://dl.doubtnut.com/l/_aR90ZBcqiC2N
https://dl.doubtnut.com/l/_j98x1vO8qHoq
https://dl.doubtnut.com/l/_zBRhvn6eL08D
https://dl.doubtnut.com/l/_mqsPlqx9Rw95


232. Define the following terms as related to proteins : Denaturation .

Watch Video Solution

233. Define the following terms : Glycosidic linkage.

Watch Video Solution

234. Define the following terms : Invert sugar .

Watch Video Solution

235. Define the following terms : Oligosaccharides .

Watch Video Solution

236. Define the following terms : Nucleotide .

https://dl.doubtnut.com/l/_mqsPlqx9Rw95
https://dl.doubtnut.com/l/_31xM9SwBXgH4
https://dl.doubtnut.com/l/_vI8HojpLXI8b
https://dl.doubtnut.com/l/_GnpWPWl9oUfS
https://dl.doubtnut.com/l/_GKrAGm0sDMTW


Watch Video Solution

237. What are anomers ?

Watch Video Solution

238. What are essential amino acids ? Give two examples.

Watch Video Solution

239. Which of the following is a polysaccharide : Starch, Maltose, Fructose,

Glucose.

Watch Video Solution

240. What is the difference between native protein and denatured

protein.

W h Vid S l i

https://dl.doubtnut.com/l/_GKrAGm0sDMTW
https://dl.doubtnut.com/l/_fUCUjgptB6qu
https://dl.doubtnut.com/l/_SnGSnadOgHup
https://dl.doubtnut.com/l/_8csM2eyATgzO
https://dl.doubtnut.com/l/_6eafNypFkVhX


Watch Video Solution

241. How are vitamins classified ? Name the vitamin responsible for

coagulation of blood ?

Watch Video Solution

242. Enumerate the reactions of D-glucose which cannot be explained by

its open chain structure.

Watch Video Solution

243. What type of linkage is present in nucleic acids?

Watch Video Solution

244. Express 118 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_6eafNypFkVhX
https://dl.doubtnut.com/l/_L6wN1yHnh4mI
https://dl.doubtnut.com/l/_fhlVwpDhLbWj
https://dl.doubtnut.com/l/_46X7ZPwHnBSk
https://dl.doubtnut.com/l/_Gx5PjMIuKlGU


Watch Video Solution

245. Express 119 in roman numerals

Watch Video Solution

246. Draw simple Fischer projections of D-glucose and L-glucose. Can

these be labelled enantiomers ?

Watch Video Solution

247. Write reactions to show how glucose Separately reacts with

Watch Video Solution

NH2OH

248. Express 120 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_Gx5PjMIuKlGU
https://dl.doubtnut.com/l/_YyjIxXZI9qZl
https://dl.doubtnut.com/l/_qFo82HfS5HQO
https://dl.doubtnut.com/l/_6DnmlUaMFuE3
https://dl.doubtnut.com/l/_5J4EipfS3DA7


249. Write reactions to show how glucose Separately reacts with

ammoniacal 

Watch Video Solution

AgNO3

250. Express 121 in roman numerals

Watch Video Solution

251. Express 122 in roman numerals

Watch Video Solution

252. Express 123 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_5J4EipfS3DA7
https://dl.doubtnut.com/l/_UMGE99kUVHsm
https://dl.doubtnut.com/l/_63Fu0KQaVb7v
https://dl.doubtnut.com/l/_aoc9uxkTbt02
https://dl.doubtnut.com/l/_XRWjt4ch98q9


253. Express 124 in roman numerals.

Watch Video Solution

254. Express 115 in roman numerals.

Watch Video Solution

255. Express 416 in roman numerals.

Watch Video Solution

256. Express 427 in roman numerals.

Watch Video Solution

257. Express 238 in roman numerals.

https://dl.doubtnut.com/l/_J2m1nFEdatO0
https://dl.doubtnut.com/l/_CQ7Mda3B5iqz
https://dl.doubtnut.com/l/_7BTJ2knUMS4i
https://dl.doubtnut.com/l/_zHfdn63PGqAA
https://dl.doubtnut.com/l/_OWinL5PCaMLs


Watch Video Solution

258. Express 129 in roman numerals.

Watch Video Solution

259. Express 130 in roman numerals.

Watch Video Solution

260. Express 17 in roman numerals.

Watch Video Solution

261. Express 22 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_OWinL5PCaMLs
https://dl.doubtnut.com/l/_nc8QM1w7GWgH
https://dl.doubtnut.com/l/_gPqF8Vv7cRa5
https://dl.doubtnut.com/l/_PaikWhtauoXS
https://dl.doubtnut.com/l/_YofXqsyumRVL
https://dl.doubtnut.com/l/_5iklMiBRTk2W


262. Express 25 in roman numerals.

Watch Video Solution

263. Give a brief explanation for the following statement-
 Uses of

aquaregia are-

Watch Video Solution

264. Calculate the molecular weight of of following compound : copper

sulphate crystals (CuSO4. 5H2O)

Watch Video Solution

265. Name the food sources and the deficiency diseases caused due to

the lack of any two vitamins A, C,E and K.

Watch Video Solution

https://dl.doubtnut.com/l/_5iklMiBRTk2W
https://dl.doubtnut.com/l/_oxvlTPhPdTsW
https://dl.doubtnut.com/l/_2BgbmxDZuOeX
https://dl.doubtnut.com/l/_dHiquivuYtSw


266. Explain the following statement-
Ammonal is an explosive.

Watch Video Solution

267. Calculate the molecular weight of of following compound :

ammonium sulphate (NH4)2SO4

Watch Video Solution

268. Animal products that are used by Human beings are-

Watch Video Solution

269. Explain in brief-
Gun powder is an explosive.

Watch Video Solution

https://dl.doubtnut.com/l/_dHiquivuYtSw
https://dl.doubtnut.com/l/_sjeGrncBZ0H0
https://dl.doubtnut.com/l/_EHQMdnTrg5In
https://dl.doubtnut.com/l/_ublAStJPk3NG
https://dl.doubtnut.com/l/_9HpdUuaeGcXm
https://dl.doubtnut.com/l/_NoDLqixo5GfR


270. Answer the following questions briefly : What are two good sources

of vitamin A ?

Watch Video Solution

271. Calculate the molecular weight of of following compound : cane

sugar C12H22O11

Watch Video Solution

272. Mixture of potassium nitrate, sulphur and charcoal used as an

explosive.

Watch Video Solution

273. What is bronze?

Watch Video Solution

https://dl.doubtnut.com/l/_NoDLqixo5GfR
https://dl.doubtnut.com/l/_pquovnKPChOs
https://dl.doubtnut.com/l/_ituNymdQRQ5U
https://dl.doubtnut.com/l/_8NXCi7IiQPUu


274. Calculate the number of molecules in 14g of nitrogen gas.

Watch Video Solution

275. What is Brass?

Watch Video Solution

276. Calculate the total number of atoms in 18g of water.

Watch Video Solution

277. Calculate number of moles in 36g of water.

Watch Video Solution

278. Calculate the mass of one atom of oxygen.

https://dl.doubtnut.com/l/_HpgDlPd5zB2P
https://dl.doubtnut.com/l/_yHINsirzZ1ZM
https://dl.doubtnut.com/l/_lQ5nvBREaBAN
https://dl.doubtnut.com/l/_QUusQs0IzsLC
https://dl.doubtnut.com/l/_2MuDzXrzxX4k


Watch Video Solution

279. How many moles of NaOH are present in 160g of it ?

Watch Video Solution

280. After watching a programme on TV about the adverse effects of junk

food and soft drinks on the health of school children, Sonali, a student of

Class XII, discussed the issue with the school principal. The principal

immediately instructed the canteen contractor to replace the fast food

with the fibre and vitamin rich food like sprouts, salad, fruits, etc. This

decision was welcomed by the parents and the students. After reading

the above passage answer the following question : Give two examples of

water-soluble vitamins.

Watch Video Solution

281. Which of the following is not a monosaccharide ?

https://dl.doubtnut.com/l/_2MuDzXrzxX4k
https://dl.doubtnut.com/l/_kjaeaGN25V22
https://dl.doubtnut.com/l/_PzWmeT9xC5Ku
https://dl.doubtnut.com/l/_WUuFHlqtOTjL


A. Glucose

B. Fructose

C. Cellulose

D. Ribose.

Answer:

Watch Video Solution

282. What is coin metal?

Watch Video Solution

283. The monomer units of starch are

A. -glucose

B. - glucose

C. pyranose

α

β

https://dl.doubtnut.com/l/_WUuFHlqtOTjL
https://dl.doubtnut.com/l/_T6sdmS2BfRZg
https://dl.doubtnut.com/l/_Ykisqo3QkqL6


D. galactose.

Answer:

Watch Video Solution

284. The amino acids are the end products of the digestion of

A. fats

B. lipids

C. proteins

D. enzymes.

Answer:

Watch Video Solution

285. Which of the following is the sweetest ?

https://dl.doubtnut.com/l/_Ykisqo3QkqL6
https://dl.doubtnut.com/l/_ol4dCY01rzNW
https://dl.doubtnut.com/l/_EroX7nvIANa2


A. Glucose

B. Fructose

C. Maltose

D. Sucrose.

Answer:

Watch Video Solution

286. Express 29 in roman numerals.

Watch Video Solution

287. Express 30 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_EroX7nvIANa2
https://dl.doubtnut.com/l/_M1d7UPsfvYPB
https://dl.doubtnut.com/l/_sIB6lPdZ8iaV


288. Express 46 in roman numerals.

Watch Video Solution

289. Express 47 in roman numerals.

Watch Video Solution

290. Express 48 in roman numerals.

Watch Video Solution

291. Express 49 in roman numerals.

Watch Video Solution

292. In nucleic acids, the individual nucleotides are linked through

https://dl.doubtnut.com/l/_JMPfTDT0Ab2E
https://dl.doubtnut.com/l/_rJbPEEPbdefw
https://dl.doubtnut.com/l/_CQCFBxvzjjJo
https://dl.doubtnut.com/l/_iqME0XO18j9j
https://dl.doubtnut.com/l/_ZribIiWejUvn


A. peptide linkage

B. phosphate group

C. glycosidic linkage

D. hydrogen bonds.

Answer:

Watch Video Solution

293. The relation between the nucleotide triplets and the amino acids is

called :

A. Gene

B. Genetic code

C. Replication

D. Enzymes.

Answer:

https://dl.doubtnut.com/l/_ZribIiWejUvn
https://dl.doubtnut.com/l/_JXHn5LoMZ476


Watch Video Solution

294. Express 50 in roman numerals.

Watch Video Solution

295. Express 51 in roman numerals.

Watch Video Solution

296. Express 52 in roman numerals.

Watch Video Solution

297. Express 53 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_JXHn5LoMZ476
https://dl.doubtnut.com/l/_vVjxVSeWzqAG
https://dl.doubtnut.com/l/_pTLlC9lUI7Xr
https://dl.doubtnut.com/l/_GnFoOqq3YUPc
https://dl.doubtnut.com/l/_GpIAHNw3iqGN
https://dl.doubtnut.com/l/_YctNbuGV0pDs


298. Express 54 in roman numerals.

Watch Video Solution

299. What is artificial gold?

Watch Video Solution

300. Express 55 in roman numerals.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YctNbuGV0pDs
https://dl.doubtnut.com/l/_hh8ltIk0xETn
https://dl.doubtnut.com/l/_rflEkKxkgIGS


301. Express 56 in roman numerals.

Watch Video Solution

302. Express 57 in roman numerals.

Watch Video Solution

303. Express 58 in roman numerals.

Watch Video Solution

304. Express 59 in roman numerals.

Watch Video Solution

305. Express 60 in roman numerals.

https://dl.doubtnut.com/l/_ctLe7tMHaFHB
https://dl.doubtnut.com/l/_fz4jWdrLLkGP
https://dl.doubtnut.com/l/_c4P4oZzYctpe
https://dl.doubtnut.com/l/_WDRQb1hzaXAg
https://dl.doubtnut.com/l/_XbJVb17wboyS


Watch Video Solution

306. Express 61 in roman numerals.

Watch Video Solution

307. Express 62 in roman numerals.

Watch Video Solution

308. Fructose is a

A. aldose

B. ketose

C. both aldose and ketose

D. none of these.

https://dl.doubtnut.com/l/_XbJVb17wboyS
https://dl.doubtnut.com/l/_iBFrfGfYJcJ1
https://dl.doubtnut.com/l/_JbwwDZW2jF7Z
https://dl.doubtnut.com/l/_nKjxh1OU0ZMs


Answer:

Watch Video Solution

309. Express 63 in roman numerals.

Watch Video Solution

310. Express 64 in roman numerals.

Watch Video Solution

311. Express 67 in roman numerals.

Watch Video Solution

312. Express 68 in roman numerals.

https://dl.doubtnut.com/l/_nKjxh1OU0ZMs
https://dl.doubtnut.com/l/_HYiCKotud8bv
https://dl.doubtnut.com/l/_YJLrjY4CElGn
https://dl.doubtnut.com/l/_EuePOwmW7S98
https://dl.doubtnut.com/l/_oLDJaoedmlUq


Watch Video Solution

313. Express 69 in roman numerals.

Watch Video Solution

314. Express 70 in roman numerals.

Watch Video Solution

315. Express 71 in roman numerals.

Watch Video Solution

316. Express 72 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_oLDJaoedmlUq
https://dl.doubtnut.com/l/_UikB7j1tiuui
https://dl.doubtnut.com/l/_rcftf3U2rldB
https://dl.doubtnut.com/l/_oEzNtMPjreBj
https://dl.doubtnut.com/l/_rqru3YN1UeAq
https://dl.doubtnut.com/l/_Np6UaGAx71UF


317. Express 73 in roman numerals.

Watch Video Solution

318. Express 74 in roman numerals.

Watch Video Solution

319. Express 75 in roman numerals.

Watch Video Solution

320. What is Gun metal?

Watch Video Solution

321. Express 76 in roman numerals.

https://dl.doubtnut.com/l/_Np6UaGAx71UF
https://dl.doubtnut.com/l/_DrgzH7elSEGS
https://dl.doubtnut.com/l/_M6chxeyfqFnc
https://dl.doubtnut.com/l/_J1F19BOwE7Ea
https://dl.doubtnut.com/l/_Pe7C3OorxiRF


Watch Video Solution

322. Express 70 in roman numerals.

Watch Video Solution

323. Express 78 in roman numerals.

Watch Video Solution

324. Express 79 in roman numerals.

Watch Video Solution

325. Express 81 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_Pe7C3OorxiRF
https://dl.doubtnut.com/l/_LkJFcTAyldLR
https://dl.doubtnut.com/l/_8wA60Bk0y3DT
https://dl.doubtnut.com/l/_GChnncsbyB6J
https://dl.doubtnut.com/l/_VrobvQAgxygV
https://dl.doubtnut.com/l/_N4WJSNz1jwly


326. Express 82 in roman numerals.

Watch Video Solution

327. Express 83 in roman numerals.

Watch Video Solution

328. Express 84 in roman numerals.

Watch Video Solution

329. In DNA, the complimentary bases are :

A. adenine and thymine, guanine and cytosine

B. adenine and thymine, guanine and uracil

C. adenine and guanine, thymine and cytosine

https://dl.doubtnut.com/l/_N4WJSNz1jwly
https://dl.doubtnut.com/l/_ZjTCPZpX1Iqu
https://dl.doubtnut.com/l/_yTlbKnBWhuIX
https://dl.doubtnut.com/l/_i1ELMwVaYaaF


D. uracil and adenine, cytosine and guanine

Answer:

Watch Video Solution

330. What is bell metal?

Watch Video Solution

331. Which of the following does not exhibit the phenomenon of

mutarotation ?

A. (+) Maltose

B. (-) Fructose

C. (+) Sucrose

D. Lactose.

https://dl.doubtnut.com/l/_i1ELMwVaYaaF
https://dl.doubtnut.com/l/_i5zgXhb9FnC1
https://dl.doubtnut.com/l/_Sau2HMxA5qpa


Answer:

Watch Video Solution

332. Which one of the following statements is not true regarding (+)

lactose ?

A. On hydrolysis (+) lactose gives equal amount of D(+) glucose and

D(+) galactose.

B. (+) Lactose is a B-glucoside formed by the union of a molecule of

D(+) glucose and a molecule of D(+) galactose.

C. (+) Lactose is a reducing sugar and does not exihibit
mutarotation.

D. (+) Lactose,  contains 8-OH groups.

Answer:

Watch Video Solution

C12H22O11

https://dl.doubtnut.com/l/_Sau2HMxA5qpa
https://dl.doubtnut.com/l/_Xepl3qABBOoe
https://dl.doubtnut.com/l/_ocCgRuWZ7Ors


333. What is constantin?

Watch Video Solution

334. What is Monel metal?

Watch Video Solution

335. What is german silver?

Watch Video Solution

336. What is dutch metal?

Watch Video Solution

337. What is Magnelium?

Watch Video Solution

https://dl.doubtnut.com/l/_ocCgRuWZ7Ors
https://dl.doubtnut.com/l/_GrDp8pVdekgI
https://dl.doubtnut.com/l/_Dd95LdRvums6
https://dl.doubtnut.com/l/_FfDLXc53LFrf
https://dl.doubtnut.com/l/_Xia3g0EHn5mf


Watch Video Solution

338. What is durelumine?

Watch Video Solution

339. What are amino acids?

A. peptide bond

B. dative bond

C. -glycosidic bond

D.  -glycosidic bond

Answer:

Watch Video Solution

α

β

340. Sucrose is a non-reducing sugar.

https://dl.doubtnut.com/l/_Xia3g0EHn5mf
https://dl.doubtnut.com/l/_B9KVKren6psX
https://dl.doubtnut.com/l/_xuyVJNFdN4eO
https://dl.doubtnut.com/l/_Uao1Wjt5i6BB


A. Glucose

B. Sucrose

C. Maltose

D. Lactose

Answer:

Watch Video Solution

341. The central dogma of molecular genetics states that the genetic

information flows from

A. Amino acids  Proteins  DNA

B. DNA  Carbohydrates  Proteins

C. DNA  RNA  Proteins

D. DNA  RNA  Carbohydrates

Answer:

→ →

→ →

→ →

→ →

https://dl.doubtnut.com/l/_Uao1Wjt5i6BB
https://dl.doubtnut.com/l/_yo5BUyBAZvhL


Watch Video Solution

342. The correct corresponding order of names of four aldoses with

configuration given below, 

A. L-erythrose, L-threose, L-erythrose, D-threose

B. D-threose, D-erythrose, L-threose, L-erythrose

C. L-erythrose, L-threose, D-erythrose, D-threose

D. D-erythrose, D-threose, L-erythrose, L-threose

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yo5BUyBAZvhL
https://dl.doubtnut.com/l/_u7FBrvo3ANXt


343. If one strand of DNA has the sequence ATGCTTGA, the sequence in

the complimentary strand would be

A. TCCGAACT

B. TACGTAGT

C. TACGAACT

D. TAGCTAGT

Answer:

Watch Video Solution

344. Which one of the following metals is required as cofactor by all

enzymes utilizing ATP in phosphate transfer ?

A. K

B. Ca

C. Na

https://dl.doubtnut.com/l/_bXxCslptsLme
https://dl.doubtnut.com/l/_lkVtzCtdrnUf


D. Mg

Answer:

Watch Video Solution

345. In aqueous solution, an amino acid exists as

A. cation

B. anion

C. dianion

D. zwitter ion

Answer:

Watch Video Solution

346. The linkage between the two monosaccharide units in lactose is

https://dl.doubtnut.com/l/_lkVtzCtdrnUf
https://dl.doubtnut.com/l/_jrm9oSTNjVpA
https://dl.doubtnut.com/l/_Qxd8pMAUe7sb


A.  of - D-glucose and  of - D-galactose

B.  of - D-galactose and  of - D-glucose

C.  of - D-galactose and  of - D-glucose

D.  of - D-galactose and  of - D-glucose

Answer:

Watch Video Solution

C1 β C4 β

C1 β C4 β

C1 α C4 β

C1 β C4 α

347. The vitamin that is not soluble in water is

A. vitamin 

B. vitamin 

C. vitamin C

D. vitamin D

Answer:

Watch Video Solution

B1

B2

https://dl.doubtnut.com/l/_Qxd8pMAUe7sb
https://dl.doubtnut.com/l/_MeulgID5SdcT


348. The scientific principle involved in radio and television is:

A.  linkage

B.  linkage

C.  linkage

D.  linkage

Answer:

Watch Video Solution

C1 − C4β

C1 − C6α

C1 − C6β

C1 − C4α

349. A basic amino acid among the following is

A. glycine

B. valine

C. proline

https://dl.doubtnut.com/l/_MeulgID5SdcT
https://dl.doubtnut.com/l/_Gs0FO5EQwkLm
https://dl.doubtnut.com/l/_MOeP0hf82NQt


D. histidine

Answer:

Watch Video Solution

350. Glucose on oxidation with bromine water yields gluconic acid. This

reaction confirms the presence of :

A. gluconic acid

B. tartaric acid

C. saccharic acid

D. mesooxalic acid

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MOeP0hf82NQt
https://dl.doubtnut.com/l/_litiwHktkHjk


351. Cheilosis and digestive disorders are due to the deficiency of

A. Vitamin A

B. thiamine

C. riboflavin

D. ascorbic acid

Answer:

Watch Video Solution

352. Glucose does not react with

A. Hydroxylamine

B. Conc. 

C. acetic anhydride

D. sodium bisulphite

HNO3

https://dl.doubtnut.com/l/_mMEeLu8lT9fG
https://dl.doubtnut.com/l/_IMiaB0B6xUVL


Answer:

Watch Video Solution

353. Which of the following i a water -soluble vitamin?

A. Vitamin A

B. Vitamin D

C. Vitamin B

D. Vitamin E.

Answer:

Watch Video Solution

354. What is the mass in grams of 2.5 moles of slaked lime Ca(OH)2 ?

Watch Video Solution

https://dl.doubtnut.com/l/_IMiaB0B6xUVL
https://dl.doubtnut.com/l/_GYITrribi1cf
https://dl.doubtnut.com/l/_9lNcQ6pveFWj


355. Explain secondary structure of proteins.

A. hydrophobic interactions

B. sequence of  -amino acids

C. fixed configuration of the polypeptide backbone

D. -helical backbone.

Answer:

Watch Video Solution

α

α

356. The two functional groups present in a typical carbohydrate are :

A. -OH and -COOH

B. -CHO and -COOH

C. C=O and -OH

D. -OH and -CHO

>

https://dl.doubtnut.com/l/_gsJwGWeQcDqj
https://dl.doubtnut.com/l/_yDHML94wzYyy


Answer:

Watch Video Solution

357. Biuret test is not given by

A. Urea

B. Proteins

C. Carbohydrates

D. Polypeptides

Answer:

Watch Video Solution

358. The presence or absence of hydroxy group on which carbon atom of

sugar differentiates RNA and DNA.

https://dl.doubtnut.com/l/_yDHML94wzYyy
https://dl.doubtnut.com/l/_jgN4Iyzb6ZqR
https://dl.doubtnut.com/l/_eAqMqJIj5A0F


A. 1st

B. 2nd

C. 3rd

D. 4th

Answer:

Watch Video Solution

359. Raising of crops for the production of ethanol is known as

A. racemisation

B. specific rotation

C. mutarotation

D. tautomerism

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eAqMqJIj5A0F
https://dl.doubtnut.com/l/_wxszfe4cOKNL


360. Which one of the following statements is correct ?

A. All amino acids are optically active

B. All amino acids except glycine are optically active

C. All amino acids except glutamic acid are optically active

D. All amino acids except lysine are optically active

Answer:

Watch Video Solution

361. Which of the following compounds can be detected by Molisch's test

?

A. Sugars

B. Amines

C. Primary alcohols

https://dl.doubtnut.com/l/_wxszfe4cOKNL
https://dl.doubtnut.com/l/_Rm6e7fyMPiLX
https://dl.doubtnut.com/l/_m250gzEyidj8


D. Nitro compounds

Answer:

Watch Video Solution

362. Synthesis of each molecule of glucose in photosynthesis involves :

A. 6 molecules of ATP

B. 18 molecules of ATP

C. 10 molecules of ATP

D. 8 molecules of ATP

Answer:

Watch Video Solution

363. Which one of the following base is not present in DNA ?

https://dl.doubtnut.com/l/_m250gzEyidj8
https://dl.doubtnut.com/l/_ppK5vgfr4FMB
https://dl.doubtnut.com/l/_EIFiKQzSyAIf


A. quinoline

B. adenine

C. cytosine

D. thymine

Answer:

Watch Video Solution

364. Which of the vitamins given below is water soluble?

A. Vitamin E

B. Vitamin K

C. Vitamin C

D. Vitamin D

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_EIFiKQzSyAIf
https://dl.doubtnut.com/l/_wIV8kgC1ONW4


365. Thiol group is present in

A. cytosine

B. cystine

C. cysteine

D. methionine

Answer:

Watch Video Solution

366. A tripeptide is written as Glycine-Al anine-Glycine. The correct

structure of the tripeptide is -

A. 

https://dl.doubtnut.com/l/_wIV8kgC1ONW4
https://dl.doubtnut.com/l/_qITn1armuKCB
https://dl.doubtnut.com/l/_zo60zbyrIp9j


B. 

C. 

D. 

Answer:

Watch Video Solution

367. What is solder?

Watch Video Solution

368. Which of the following base is not present in DNA ?

https://dl.doubtnut.com/l/_zo60zbyrIp9j
https://dl.doubtnut.com/l/_zkVDVmCQRASr
https://dl.doubtnut.com/l/_aebjwQMT1ZLg


A. Adenine

B. Guanine

C. Cytosine

D. Uracil.

Answer:

Watch Video Solution

369. Haemophilia is due to absence of:

A. cellulase

B. zymase

C. invertase

D. urease

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aebjwQMT1ZLg
https://dl.doubtnut.com/l/_8BksqWLguAoy


370. What is hydroleum?

Watch Video Solution

371. Lactose is made of

A. -D -glucose only

B. -D -glucose and -D-glucose

C. -D -galactose and -D-glucose

D. -D -galactose and -D -glucose

Answer:

Watch Video Solution

α

α β

β β

α α

372. Answer the following question-
Is nichrome a mixture?

W h Vid S l i

https://dl.doubtnut.com/l/_8BksqWLguAoy
https://dl.doubtnut.com/l/_qXjBlN3TqHnA
https://dl.doubtnut.com/l/_kNsQCXLgvb4J
https://dl.doubtnut.com/l/_iup1WjY3ahcC


Watch Video Solution

373. Which one is not a constituent of nucleic acid ?

A. Uracil

B. Guanidine

C. Phosphoric acid

D. Ribose sugar

Answer:

Watch Video Solution

374. Phenol reacts with  water to give

A. monocarboxylic acid

B. dicarboxylic acid

C. ketone

Br2

https://dl.doubtnut.com/l/_iup1WjY3ahcC
https://dl.doubtnut.com/l/_vJucKcWeirh9
https://dl.doubtnut.com/l/_UGKA74vPZdb4


D. keto acid

Answer:

Watch Video Solution

375. How many monosaccharides are obtained by hydrolysis of sucrose ?

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

376. - D (+) glucose and - D (+) glucose areα β

https://dl.doubtnut.com/l/_UGKA74vPZdb4
https://dl.doubtnut.com/l/_DvVeQWc5O7Zk
https://dl.doubtnut.com/l/_3i2GDUVdr0wb


A. isomers of D(+) glucose and L(-) glucose respectively

B. diastereomers of glucose

C. anomers of glucose

D. isomers which differ in the configuration of C-2

Answer:

Watch Video Solution

377. Which one of the following forms the constituent of cell wall plant

cells ?

A. Starch

B. Glycogen

C. Cellulose

D. Amylose

Answer:

https://dl.doubtnut.com/l/_3i2GDUVdr0wb
https://dl.doubtnut.com/l/_ED3teqlPQNDr


Watch Video Solution

378. What is alanko?

Watch Video Solution

379. Aldehyde and ketones cannot be distinguished by:

A. Lucas test

B. Ninhydrin test

C. Benedict reagent test

D. All the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ED3teqlPQNDr
https://dl.doubtnut.com/l/_T6r4RYbl4ryF
https://dl.doubtnut.com/l/_0jC41AzwQAsG


380. The correct structure of the dipeptide gly-ala is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dZ0beOWt9moh


381. What is Stainless steel?

Watch Video Solution

382. Glucose when reduced with HI and red phosphorus gives

A. n-hexane

B. n-heptane

C. n-pentane

D. n-octane

Answer:

Watch Video Solution

383. How many amino acids are present in insulin ?

A. 25

https://dl.doubtnut.com/l/_uH3CfHCRNDlH
https://dl.doubtnut.com/l/_SBmhEdDn09bB
https://dl.doubtnut.com/l/_HFs427d1wE6X


B. 51

C. 20

D. 22

Answer:

Watch Video Solution

384. What is manganese steel?

Watch Video Solution

385. Define the term- Alanko?

Watch Video Solution

386. The monosaccharide constituents of lactose are :

https://dl.doubtnut.com/l/_HFs427d1wE6X
https://dl.doubtnut.com/l/_Rrheob5UzM2K
https://dl.doubtnut.com/l/_waVgo6xE9Ne3
https://dl.doubtnut.com/l/_K3yBpwbbZDOr


A. -D -glucose and -D-fructose

B. -D -glucose only

C. -D -glucose only

D. -D -glucose and -D -galactose

Answer:

Watch Video Solution

α β

α

β

β β

387. Which one of the following is an essential amino acid?

A. Cysteine

B. Serine

C. Tyrosine

D. Isoleucine

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_K3yBpwbbZDOr
https://dl.doubtnut.com/l/_YZbtVXzx3LIn


388. Adenosine is an example of

A. purine base

B. nucleoside

C. nucleotide

D. pyrimidine base

Answer:

Watch Video Solution

389. Glycogen is

A. a structural polysaccharide

B. structurally similar to amylopectin but extensively branched

C. a polymer of -D- glucose unitsβ

https://dl.doubtnut.com/l/_YZbtVXzx3LIn
https://dl.doubtnut.com/l/_8xf463fUKcMq
https://dl.doubtnut.com/l/_CCqfArXwU7iY


D. structurally very much similar to amylopectin.

Answer:

Watch Video Solution

390. Answer the following-
For what purpose Bell metal is used?

Watch Video Solution

391. During conversion of glucose into glucose cyanohydrin, what

functional group/atom of glucose is replaced ?

A. hydrogen

B. aldehydic group

C. primary alcoholic group

D. secondary alcoholic group

https://dl.doubtnut.com/l/_CCqfArXwU7iY
https://dl.doubtnut.com/l/_8AUJ7rGJbrOt
https://dl.doubtnut.com/l/_T16ZBFiP8J8g


Answer:

Watch Video Solution

392. Let

Which of the following is true ?

A. Collagen

B. Albumin

C. Myosin

D. Fibroin

Answer:

Watch Video Solution

f(x) = (1 − x)2
x + x2, ∀x ∈ R and g(x) = ∫

x

1

( − Int)f(t)d
2(t − 1)

t + 1

393. Glucose on oxidation with bromine water gives

https://dl.doubtnut.com/l/_T16ZBFiP8J8g
https://dl.doubtnut.com/l/_D3HU5mfjDMwm
https://dl.doubtnut.com/l/_J0Kzi0f2rHbO


A. six carbon atoms linked in straight chain

B. secondary alcoholic group in glucose

C. aldehyde group in glucose

D. primary alcoholic group in glucose.

Answer:

Watch Video Solution

394. Define the term- chromium steel?

Watch Video Solution

395. In double strand helix structure of DNA, heterocyclic base cytosine

forms hydrogen bond with

A. adenine

B. guanine

https://dl.doubtnut.com/l/_J0Kzi0f2rHbO
https://dl.doubtnut.com/l/_YwrBgOUPhM2K
https://dl.doubtnut.com/l/_9DYkf0C0IIID


C. purine

D. thyamine

Answer:

Watch Video Solution

396. Calculate the mass of one molecule of oxygen.

Watch Video Solution

397. Which one given below is a non-reducing sugar?

A. Maltose

B. Lactose

C. Sucrose

D. glucose

https://dl.doubtnut.com/l/_9DYkf0C0IIID
https://dl.doubtnut.com/l/_1oThxHpFVgNc
https://dl.doubtnut.com/l/_0pkteGJWRE9R


Answer:

Watch Video Solution

398. Which of the following is correct

A. A-T,G-C

B. A-G,T-G

C. G-T,A-C

D. A-A,T-T

Answer:

Watch Video Solution

399. Which of the following cannot reduce Fehling solution?

A. Sucrose

https://dl.doubtnut.com/l/_0pkteGJWRE9R
https://dl.doubtnut.com/l/_Voj47RzBD2tb
https://dl.doubtnut.com/l/_lJcuIspp5kfz


B. Glucose

C. Fats

D. Protein

Answer:

Watch Video Solution

400. Express 1037 in roman numbers.

Watch Video Solution

401. CH4 reacts with Cl2 to form CH2Cl2 and HCl . calculate the volume of

HCl formed when 80ml of methane reacts completely with Cl2.

Watch Video Solution

402. Express 1038 in roman numbers.

https://dl.doubtnut.com/l/_lJcuIspp5kfz
https://dl.doubtnut.com/l/_JNaDy5gJUx7S
https://dl.doubtnut.com/l/_WAkSPCaw8vxm
https://dl.doubtnut.com/l/_CL3HGmR2BSnr


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CL3HGmR2BSnr


403. The structure of D-(+)-glucose is 

 


The structure of L-(-)-glucose is

A. 

https://dl.doubtnut.com/l/_to8NEsJGkUWV


B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_to8NEsJGkUWV


404. Define the term-
Brass?

Watch Video Solution

405. Starch is a mixture of

A. amylum

B. amylopectin

C. amylose

D.  -D-glucose

Answer:

Watch Video Solution

β

406. Which of the following are essential amino acids ?

A. Valine

https://dl.doubtnut.com/l/_RD6noVeOic4I
https://dl.doubtnut.com/l/_xVGXejw1r80q
https://dl.doubtnut.com/l/_p2ebGNouOafN


B. Lysine

C. Alanine

D. Serine

Answer:

Watch Video Solution

407. Which of the following contain transition metal ?

A. Vitamin 

B. Chlorophyll

C. Haemoglobin

D. DNA

Answer:

Watch Video Solution

B12

https://dl.doubtnut.com/l/_p2ebGNouOafN
https://dl.doubtnut.com/l/_rGQFSlUMFzZr
https://dl.doubtnut.com/l/_9Ry4yD8tpANC


408. Define the term-Coin metal?

Watch Video Solution

409. Fibrous proteins are present in

A. myosin

B. albumins

C. collagen

D. fibroin

Answer:

Watch Video Solution

410. Calculate the volume occupied by 2.8g of N2 at STP ?

Watch Video Solution

https://dl.doubtnut.com/l/_9Ry4yD8tpANC
https://dl.doubtnut.com/l/_UfviKwvtUJw1
https://dl.doubtnut.com/l/_bMqsSDPj0MQt


411. Express in roman numbers : 85

Watch Video Solution

412. Which of the following statements are not true?

A. Collagen in tendons is a globular protein

B. Keratin protein present in hair has -helix structure

C. Coagulation of albumin present in white of an egg is an example of

denaturation of protein.

D. The enzymes are not specific in nature.

Answer:

Watch Video Solution

α

413. Express 1039 in roman numbers.

https://dl.doubtnut.com/l/_OQ7qhHBwlr5E
https://dl.doubtnut.com/l/_uoNxgIRR0JwO
https://dl.doubtnut.com/l/_Q1PMRCTck7Yt


Watch Video Solution

414. Among the following statements about molecules X and Y, the one

which is (are) correct is (are) 

A. X and Y are diastereomers

B. X and Y are enantiomers

C. X and Y are both aldohexoses

D. X is a D-sugar and Y is an L-sugar.

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_Q1PMRCTck7Yt
https://dl.doubtnut.com/l/_jSG3VXk0XHQx


Watch Video Solution

415. Express in roman numbers:86

Watch Video Solution

416. The pair of optical isomers of glucose which differ in the

configuration only around  atom are called

A. epimers

B. Fischer projections

C. anomers

D. mutarotational isomers

Answer:

Watch Video Solution

C1

https://dl.doubtnut.com/l/_jSG3VXk0XHQx
https://dl.doubtnut.com/l/_P8CD7TMEjyX9
https://dl.doubtnut.com/l/_bXutTkR64j5J


417. The maximum number of optical isomers of glucose expected are

A. 8

B. 12

C. 16

D. 25

Answer:

Watch Video Solution

418. Which of the following statements is not correct ?

A. Monosaccharides reduce Tollen’s reagent.

B. On dissolving -D-glucose in water having specific rotation , its

specific rotation decreases

C. Glucose is aldohexose while fructose is ketohexose

α 111∘

https://dl.doubtnut.com/l/_U6iupweNQNCj
https://dl.doubtnut.com/l/_54pGhq4ug47N


D. In D-glucose, -OH group is present to left at 5th carbon atom.

Answer:

Watch Video Solution

419. The group of fungi the are called fungi imperfecti are

A. epimers

B. anomers

C. enantiomers

D. diastomers.

Answer:

Watch Video Solution

420. Mutarotation does not occur in

https://dl.doubtnut.com/l/_54pGhq4ug47N
https://dl.doubtnut.com/l/_M9u6maAsslZ7
https://dl.doubtnut.com/l/_GJFW2jK6QjBr


A. sucrose

B. D-glucose

C. L-glucose

D. none of these.

Answer:

Watch Video Solution

421. Which of the following pairs give positive Tollen’s test?

A. Glucose, sucrose

B. Glucose, fructose

C. Hexanal, acetophenone

D. Fructose, sucrose.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GJFW2jK6QjBr
https://dl.doubtnut.com/l/_DovNUyt4lg5x


422. Define the term- Gun metal?

Watch Video Solution

423. Which of the following statements is not correct ?

A. Amino acids exist as zwiter ions

B. All naturally occurring -amino acids have  group on the

right.

C. Except glycine, all other naturally occuring -amino acids have a

chiral carbon atom.

D. The basic character in -amino acids is due to
the  group.

Answer:

Watch Video Solution

α −NH2

α

α −COO−

https://dl.doubtnut.com/l/_DovNUyt4lg5x
https://dl.doubtnut.com/l/_lvcS4zY11hOD
https://dl.doubtnut.com/l/_MOTbNFf43jkl
https://dl.doubtnut.com/l/_f1r6Et479eCT


424. All proteins on hydrolysis give

A. peptides

B. -amino acids

C. amines and carboxylic acid residues

D. enzymes

Answer:

Watch Video Solution

α

425. The sequence in which amino acids are arranged in a protein is

called

A. primary structure

B. secondary structure

C. tertiary structure

D. configuration.

https://dl.doubtnut.com/l/_f1r6Et479eCT
https://dl.doubtnut.com/l/_k6DYY9DU0BiR


Answer:

Watch Video Solution

426. Which of the following is not a class of proteins ?

A. enzymes

B. hormones

C. antibodies

D. lipids.

Answer:

Watch Video Solution

427. The questions given below consist of an Assertion and Reason. Use

the following key to choose the appropriate answer. (a) If both assertion

and reason are CORRECT and reason is the CORRECT explanation of the

https://dl.doubtnut.com/l/_k6DYY9DU0BiR
https://dl.doubtnut.com/l/_4QvJ35zwfStZ
https://dl.doubtnut.com/l/_oMfsM2ZqB2p0


assertion.
 (b) If both assertion and reason are CORRECT, but reason is

NOT THE CORRECT explanation of the assertion.
 (c) If assertion is

CORRECT but reason is INCORRECT.
 (d) If assertion ig INCORRECT but

reason ig CORRECT.
 (e) If both assertion and reason are INCORRECT.

Assertion :Glycosides are hydrolysed in acidic conditions.
 Reason =:

Glycosides are acetals.

Watch Video Solution

428. Assertion: A solution of Sucrose in water is dextrorotatory but on

hydrolysis in presence of little hydrochloric acid it becomes laevorotatory.

Reason : Sucrose on hydrolysis gives unequal amounts of glucose and

fructose as a result of which change in sign of rotation is observed.

Watch Video Solution

429. Assertion : Fats and oils are one of the main sources of food for all

living organisms.
Reason =: Lipids act as energy reserves.

W t h Vid S l ti

https://dl.doubtnut.com/l/_oMfsM2ZqB2p0
https://dl.doubtnut.com/l/_4wQmBpdcuP0X
https://dl.doubtnut.com/l/_HthL9bsdH4TK


Watch Video Solution

430. Define the term- Bell metal?

Watch Video Solution

431. Assertion, Uracil is present in DNA.
 Reason : DNA undergoes

replication.

Watch Video Solution

432. Define the term- Bronze alloy?

Watch Video Solution

433. Describe the following processes in the body.

Role of bile salts in the digestion and absorption of fats.

Watch Video Solution

https://dl.doubtnut.com/l/_HthL9bsdH4TK
https://dl.doubtnut.com/l/_baT84G0OeYo6
https://dl.doubtnut.com/l/_qEgTiNP8i1j5
https://dl.doubtnut.com/l/_UKCehugd0mSv
https://dl.doubtnut.com/l/_l9cFf02iyG98


Watch Video Solution

434. Except glycine all other naturally occurring amino acids are optically

active.

Watch Video Solution

435. Define the term- Constantin alloy?

Watch Video Solution

436. Define the term- Monel metal alloy?

Watch Video Solution

437. Match the carbohydrate in Column I with its characteristic given in

Column II 

https://dl.doubtnut.com/l/_l9cFf02iyG98
https://dl.doubtnut.com/l/_GHenw48x9R4A
https://dl.doubtnut.com/l/_xcx23wGuKXjs
https://dl.doubtnut.com/l/_D9PBuxvFgg1f
https://dl.doubtnut.com/l/_ng4or15KSDxC


Watch Video Solution

438. Match the carbohydrate in Column I with its characteristic given in

Column II 

Watch Video Solution

439. The answer to to each of the following question is a single-digit-

integer ranging from 0 to 9. Darken the correct digit. Among the

following total number of essential amino acids : Leucine, Alanine,

Phenylalanine, Proline, Threonine, Lysine, Histidine, Arginine, Cysteine,

https://dl.doubtnut.com/l/_ng4or15KSDxC
https://dl.doubtnut.com/l/_FgjfteGgly0U
https://dl.doubtnut.com/l/_pWPNP8qsuCOA


Tryptophan, Serine Valine is 

Watch Video Solution

440. The number of tripeptides formed by three amino acids : glycine,

alanine and serine is : 

Watch Video Solution

441. The number of chiral carbon atoms present in -D (+)-glucose is 


Watch Video Solution

β

https://dl.doubtnut.com/l/_pWPNP8qsuCOA
https://dl.doubtnut.com/l/_bzwIVokeKpH6
https://dl.doubtnut.com/l/_SuobhIvWMrPj
https://dl.doubtnut.com/l/_tBgBwLM5Jyve


442. The number of peptide hormones among: insulin, testosterone,

oxytocin, thyroxine, vasopressin, cortisone is 

Watch Video Solution

443. The number of fat soluble vitamins among, D, K, , C
 , E is 


Watch Video Solution

B12 B2

444. The substituents  and  for nine peptides are listed in the table

given below. How many of these peptides are positively charged at pH =

R1 R2

https://dl.doubtnut.com/l/_tBgBwLM5Jyve
https://dl.doubtnut.com/l/_8RUp3PWNpaHs
https://dl.doubtnut.com/l/_nF57STgvvqwr


7.0? 

Watch Video Solution

445. When the following aldohexose exists in its D-configuration, the

total number of stereoisomers in its Pyranose form is 

https://dl.doubtnut.com/l/_nF57STgvvqwr
https://dl.doubtnut.com/l/_DtcWk6eJabWx


Watch Video Solution

446. A tetrapeptide has - COOH group on alanine. This produces glycine

(Gly), valine (Val), Phenyl-alanine (Phe) and alanine (Ala), on complete

hydrolysis. For this tetrapeptide, the number of possible Sequences

(primary strutures) with  group attached to a chiral center is. 


Watch Video Solution

NH2

https://dl.doubtnut.com/l/_DtcWk6eJabWx
https://dl.doubtnut.com/l/_28CHiXzNybPR


447. Define the term- German silver alloy?

Watch Video Solution

448. Which of the following polymer is stored in the liver of animals?

A. Amylose

B. Cellulose

C. Amylopectin

D. Glycogen

Answer:

Watch Video Solution

449. Sucrose (cane Sugar) is a disaccharide. One molecule of Sucrose on

hydrolysis gives _________.

https://dl.doubtnut.com/l/_vLRIgxlxo8Q5
https://dl.doubtnut.com/l/_aKqauAPf9nh9
https://dl.doubtnut.com/l/_sgd36K7vDCXr


A. 2 molecules of glucose

B. 2 molecules of glucose + 1 molecule of fructose

C. 1 molecule of glucose + 1 molecule of fructose

D. 2 molecules of fructose

Answer:

Watch Video Solution

450. Which of the following pairs represents anomers?

A. 

https://dl.doubtnut.com/l/_sgd36K7vDCXr
https://dl.doubtnut.com/l/_9GU9AVf5pIGQ


B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9GU9AVf5pIGQ


451. Proteins are found to have two different types of secondary

structures viz. -helix and -pleated sheet structure. -helix structure of

protein is stabilised by :

A. Peptide bonds

B. van der Waals forces

C. Hydrogen bonds

D. Dipole-dipole interactions

Answer:

Watch Video Solution

α β α

452. In disaccharides, if the reducing groups of monosaccharides i.e.

aldehydic or ketonic groups are bonded, these are non- reducing sugars.

Which of the following disaccharide is a non-reducing sugar?

https://dl.doubtnut.com/l/_9GU9AVf5pIGQ
https://dl.doubtnut.com/l/_syQ1JKj2lZG6
https://dl.doubtnut.com/l/_JOX8FzzasN76


A. 

B. 

C. 

D. 

Answer:

W h Vid S l i

https://dl.doubtnut.com/l/_JOX8FzzasN76


Watch Video Solution

453. Which of the following acids is a vitamin?

A. Aspartic acid

B. Ascorbic acid

C. Adipic acid

D. Saccharic acid

Answer:

Watch Video Solution

454. Define the term- Dutch metal alloy?

Watch Video Solution

https://dl.doubtnut.com/l/_JOX8FzzasN76
https://dl.doubtnut.com/l/_jG3GG2qW75At
https://dl.doubtnut.com/l/_auredLKAuEq1


455. Fill in the blanks 

Nucleic acids are polymers of …………….

A. Nucleosides

B. Nucleotides

C. Bases

D. Sugars

Answer:

Watch Video Solution

456. Define the term- Magnelium alloy?

Watch Video Solution

457. Give answers for the following question-
 For what purpose

Magnelium alloy is used?

https://dl.doubtnut.com/l/_9e7dirdbevcx
https://dl.doubtnut.com/l/_5j1NOnm3kalJ
https://dl.doubtnut.com/l/_aPwhwK6mIk7v


Watch Video Solution

458. Name the four bases present in DNA. Which one of these is not

present in RNA ?

A. Adenine

B. Uracil

C. Thymine

D. Cytosine

Answer:

Watch Video Solution

459. Answer the following question-
 For what purpose Bronze alloy is

used?

Watch Video Solution

https://dl.doubtnut.com/l/_aPwhwK6mIk7v
https://dl.doubtnut.com/l/_9AbCxTDMIpYK
https://dl.doubtnut.com/l/_gyK7pgaQlz1d


460. Which of the following base is not present in DNA ?

A. Adenine

B. Thymine

C. Cytosine

D. Uracil

Answer:

Watch Video Solution

461. Three cyclic structures of monosaccharides are given below. Which of

these are anomers ? 

https://dl.doubtnut.com/l/_x6v3rbU0KS5Q
https://dl.doubtnut.com/l/_XbQ97MA2ORQ7


A. I and II

B. II and III

C. I and III

D. III is anomer of I and II

Answer:

Watch Video Solution

462. Express in roman numbers:87

Watch Video Solution

463. Optical rotations of some compounds along with their Structures

are given below. Which of them have D configuration ? 

https://dl.doubtnut.com/l/_XbQ97MA2ORQ7
https://dl.doubtnut.com/l/_egFVXrIXJelL
https://dl.doubtnut.com/l/_vjItpXn8zXcH


A. I, II, III

B. II,III

C. I, II

D. III

Answer:

Watch Video Solution

464. Express 1040 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_vjItpXn8zXcH
https://dl.doubtnut.com/l/_pUhSHLxEo3rn
https://dl.doubtnut.com/l/_Z8LlTpNHXrwq


465. Express 1041 in roman numbers.

Watch Video Solution

466. Express in roman numbers: 89

Watch Video Solution

467. Proteins can be classified into two types on the basis of their

molecular shape i.e., fibrous proteins and globular proteins. Examples of

globular proteins are -

A. Insulin

B. Keratin

C. Albumin

D. Myosin

Answer:

https://dl.doubtnut.com/l/_Z8LlTpNHXrwq
https://dl.doubtnut.com/l/_nKwdGxvvowYp
https://dl.doubtnut.com/l/_wP8hMvKYt9Rw


Watch Video Solution

468. Answer the following question-
For what purpose Brass alloy is used?

Watch Video Solution

469. Amino acids are classified as acidic, basic or neutral depending upon

the relative number of amino and carboxyl groups in their molecule.

Which of the following are acidic?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(CH3)2CH − CH
∣

NH2

− COOH

HOOC − CH2 − CH2 − CH
∣

NH2

− COOH

H2N − CH2 − CH2 − CH2 − COOH

HOOC − CH2 − CH
∣

NH2

− COOH

https://dl.doubtnut.com/l/_wP8hMvKYt9Rw
https://dl.doubtnut.com/l/_6dVHxc2OqmKU
https://dl.doubtnut.com/l/_JqtBbPzeMdvm


470. Define the following term-
Manganese steel?

Watch Video Solution

471. Express 91 in roman numerals.

Watch Video Solution

472. Express 93 in roman numerals.

Watch Video Solution

473. Which of the following are purine bases?

A. Guanine

B. Adenine

https://dl.doubtnut.com/l/_JqtBbPzeMdvm
https://dl.doubtnut.com/l/_i7NaxGSghNFc
https://dl.doubtnut.com/l/_qoO5mSP4cxtq
https://dl.doubtnut.com/l/_dVHf5xf5CNIU
https://dl.doubtnut.com/l/_4RmQR1YSRYl0


C. Thymine

D. Uracil.

Answer:

Watch Video Solution

474. Express 96 in roman numerals.

Watch Video Solution

475. Match the vitamins given in Column I with the deficiency disease they

cause given in Column II. 

https://dl.doubtnut.com/l/_4RmQR1YSRYl0
https://dl.doubtnut.com/l/_51B5B4rMFkbU
https://dl.doubtnut.com/l/_k0bKZWZm8fv2


Watch Video Solution

476. Match the following enzymes given in Column I with the reactions

they catalyse given in Column II. 

Watch Video Solution

477. Assertion : D(+) - Glucose is dextrorotatory in nature. 

Reason : 'D' represents its dextrorotatory nature.

A. (a) Assertion and reason both are correct statements and reason

explains the assertion.

https://dl.doubtnut.com/l/_k0bKZWZm8fv2
https://dl.doubtnut.com/l/_ZZRLmp96zJHj
https://dl.doubtnut.com/l/_Z0YIc2oyRC2e


B. (b) Assertion and reason both are correct statements but reason is

not correct explanation for assertion.

C. (c) Assertion is correct statement and reason is wrong Statement.

D. (d) Assertion is wrong statement and reason is correct statement.

Answer:

Watch Video Solution

478. Express 94 in roman numerals.

Watch Video Solution

479. Name the products of hydrolysis of sucrose.

Watch Video Solution

https://dl.doubtnut.com/l/_Z0YIc2oyRC2e
https://dl.doubtnut.com/l/_DJnCnJkmS3bd
https://dl.doubtnut.com/l/_V7a4toD7q8yW


480. Answer the following question-
For what purpose Artificial gold alloy

is used?

Watch Video Solution

481. What type of bonds hold a DNA double helix together ?

Watch Video Solution

482. Name the purines present in DNA.

Watch Video Solution

483. Express 97 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_9M3LzEhzUf9e
https://dl.doubtnut.com/l/_KuUeth7qVGvz
https://dl.doubtnut.com/l/_vUBFWVzQyUss
https://dl.doubtnut.com/l/_Epb9T44Tj1uo


484. Express 98 in roman numbers.

Watch Video Solution

485. Enumerate the reactions of D-glucose which cannot be explained by

its open chain structure.

Watch Video Solution

486. ExpresS 99 in roman numbers.

Watch Video Solution

487. For what purpose Coins metal is used?

Watch Video Solution

https://dl.doubtnut.com/l/_Q9UPREXi4OFX
https://dl.doubtnut.com/l/_ttnInDbXXo1z
https://dl.doubtnut.com/l/_39dlcMf2pYIm
https://dl.doubtnut.com/l/_Jb8D1hVHOhGO


488. What is glycogen ? How is it different from starch?

Watch Video Solution

489. Express 100 in roman numbers.

Watch Video Solution

490. For what purpose Gun metal alloy is used?

Watch Video Solution

491. Express 101 in roman numerals.

Watch Video Solution

https://dl.doubtnut.com/l/_gssfwxbGdD5o
https://dl.doubtnut.com/l/_DF0r1OxFeplE
https://dl.doubtnut.com/l/_epUSxWlVPvss
https://dl.doubtnut.com/l/_rbwMXjJyoFRi


492. What are essential and non-essential amino acids ? Give two

examples of each type.

Watch Video Solution

493. What happens when D - glucose is treated with the following

reagents ? Bromine water.

Watch Video Solution

494. What happens when D - glucose is treated with the following

reagents ? .

Watch Video Solution

HNO3

495. What happens when D- glucose is treated with the following reagent

? 

https://dl.doubtnut.com/l/_bQBU0AjzRs6c
https://dl.doubtnut.com/l/_ih6Trtt0Tagf
https://dl.doubtnut.com/l/_GVC9D1RlyC8x
https://dl.doubtnut.com/l/_FLJ3LKrdtNBD


HI.

Watch Video Solution

496. What are disaccharides ?

Watch Video Solution

497. What is mutarotation ?

Watch Video Solution

498. For what purpose Monel metal is used?

Watch Video Solution

499. What are vitamins ? How are these classified.

Watch Video Solution

https://dl.doubtnut.com/l/_FLJ3LKrdtNBD
https://dl.doubtnut.com/l/_gbhPCJPbVnde
https://dl.doubtnut.com/l/_0OEFzFjDxZml
https://dl.doubtnut.com/l/_h5cIgM1vsBzB
https://dl.doubtnut.com/l/_Nl9gvkscDpHW


Watch Video Solution

500. Name the vitamins whose deficiency cause (i) rickets (ii) night

blindness, (iii) scurvy.

Watch Video Solution

501. Name the vitamin whose deficiency causes Beri-Beri.

Watch Video Solution

502. Name the vitamins whose deficiency cause (i) rickets (ii) night

blindness, (iii) scurvy.

Watch Video Solution

503. Write two differences between hormones and vitamins.

Watch Video Solution

https://dl.doubtnut.com/l/_Nl9gvkscDpHW
https://dl.doubtnut.com/l/_jYq6SfM6kKLA
https://dl.doubtnut.com/l/_x5uoufXocSoC
https://dl.doubtnut.com/l/_ZtkSNY5jilOz
https://dl.doubtnut.com/l/_gVUHVEJFnZf8


https://dl.doubtnut.com/l/_gVUHVEJFnZf8

